2009



SUMMARY

INSTRUCTION FOR INSTALLATION AND USE.......cooiiiieie e 3
CALIPERS ... 11
CAST IRON DISCS ...ttt 73
DISC ASSEMBLIES ... 105
CAST IRON DISC FIXINGS ......coriiiiiiie et 107
PADS .o e e e e 111
CARBON DISCS AND PADS ...t 117
CARBON DISC FIXING ...ttt 123
MASTER CYLINDERS & RESERVOIRS ........cooiiiiiieeee e 125
PEDAL BOX ...ttt ettt 131
TYPICAL BRAKE SYSTEMS ... 133
BRAKE FLUID ... .ot 159
TEMPERATURE RECORDS ... 163




DISCLAIMER OF WARRANTY

Brembo's "racing" products are designed and manufactured to be used exclusively in competitions and,
therefore, shall not be used on public roads. Thus, Brembo shall not have any liability whatsoever in
connection with the use of the products in violation of such limits and/or in connection with the normal
wear and tear of such products, nor shall any "Product Liability" apply in such cases. Any alteration of
or tampering with the "racing" products may endanger their safety and any guarantee (concerning both
contractual and tortuous liability) given by Brembo in respect of the products will be terminated by any
such

alteration or tampering.

INSTALLATION AND MAINTENANCE

Brembo's "racing" products shall be installed by highly qualified and competent professionals working in
the "racing' field, who have been specifically trained to operate such kind of products. The "racing"
products shall be submitted to periodical maintenance. Detailed instructions for both installation and
maintenance of such

products are set forth in the Racing Catalogue. Thus, Brembo shall not have any liability whatsoever in
connection with Client's failure to comply with the instructions set forth in the Racing Catalogue and/or
in connection with their inappropriate and/or incorrect installation on vehicles and/or with the lack of or
incorrect maintenance of such products, nor shall any "Product Liability" apply in such cases.

CONDITIONS OF USE

The Clients acknowledge and accept that due to the particular operative and environmental conditions
under which the racing products operate during competitions, such products may be subject to use
under extreme conditions, which may exceed the project limits and control as set by Brembo. Thus,
Brembo shall not have any liability whatsoever in connection with the use of the "racing" products under
extreme conditions during the competitions, nor shall any "Product Liability" apply in such case.

LIMITS TO CONTRACTUAL GUARANTEES

Brembo guarantees that the "racing" products are manufactured with high quality materials and in
accordance with Brembo's "racing" products quality standards. Should the Client, having received the
"racing" products. notice either an apparent or a hidden defect, he shall communicate it in writing to
Brembo within 8 (eight) days from the date of their delivery. The Client shall, at his own expense,
deliver the defective

products freight prepaid to Brembo, Mooresville, NC. Only in case a defect has actually been
ascertained by Brembo's quality control office, the defective parts of the "racing" products will be
replaced. In any event, Brembo's liability, as well as the liability of its agents and/or distributors and/or
any other brokers shall not exceed the sale price of the "racing" producers. The guarantee shall not
apply in case the "racing" products have not been installed and maintained in accordance with the
instructions set forth in the Racing Catalogue. Brembo's liability shall not exceed the limits set forth in
this paragraph and no further guarantee, neither express nor implied, which may determine an
extension of such liability, is hereby given. Except upon Brembo's express written authorization, none of
its agents and/or distributors and/or other brokers are authorized to give further guarantees other than
those provided for in these conditions.




INSTRUCTION FOR INSTALLATION AND USE

PURPOSE

To show the correct procedures for the mounting and use of BREMBO braking systems for racing cars,
with cast-iron brake discs.

RESERVOIR

CHOICE OF THE RESERVOIR

The capacity of the reservoir must be such that when the brake fluid is between the MIN and MAX levels
the volume is at least equal to that required by the brake pistons stroke in case of maximum pad and rotor
wears.

MOUNTING OF THE RESERVOIR

a. Use the pipe fittings and the washers (in copper or in rubber) foreseen by the supplier of the
reservoir.

b. In order to avoid any vacuum inside the reservoir, as a consequence of the brake fluid level
lowering, it is always necessary to have a hole diam. 1 mm in the reservoir cap,
independently from the presence of the bellows diaphragm in the reservoir.

MASTER-CYLINDER

CHOICE OF THE MASTER CYLINDER

a. The master cylinder diameter must be chosen in function of the type of calipers which have
to be fed, of the brake pedal ratio and of the max pressure we want to obtain: every variation
of the master cylinder diameter involves an increase or a decrease of the master cylinder
area of about 15%.

b. The rubber boot, between the push rod and the hydraulic part, must always be assembled.

BRAKE PEDAL MECHANISM (SYSTEM CONTROLLED BY 2 MASTER CYLINDERS)

a. The brake pedal mechanism must be designed and manufactured in order to allow a
complete stroke of both master cylinders. In case of systems where the strokes of the two
master cylinders are very different from each other, it is necessary that the rod connecting
the two push rods be at the appropriate angle.

b. For a more linear operation of the brake pedal/master-cylinder mechanism, it is important
that the distance between the pedal fulcrum and the push rods is equal or greater than 40
mm (see Fig. 1a).

c. Furthermore, it is also important that in the rest position, the rod axle is placed back of 10 -
12mm compared to the fulcrum axle.

d. Check that in the rest position the rod connecting the two push rods is perpendicular to both
push rods.

e. Check that between the joints of the rod connecting the two push rods and the pedal there is
a clearance of at least 1 mm each side, in order to allow the eventual inclination of the rod
compared to the push rods axle (see Fig. 1b).




POSITION
CORRESPONDING TO
MAX PRESSURE

1 MIN

POSITION
CORRESPONDING TO
MAX MASTER-

CYLINDER STROKE

REST POSITION

30 Fig. 1a

BRAKE DISCS

ASSEMBLY OF BELL AND DISC

a. Clean the cast iron braking ring, eliminating every trace of grease or oil.

b. Mount the bell on the braking ring using the BREMBO mounting bush system (the assembly
of the bell on the disc must be carried out without any interference).

c. Check that the "floating" is correct, that the axial clearance between braking ring and bell
meets the values prescribed by Brembo.

ASSEMBLY OF THE COMPLETE DISC ON THE WHEEL HUB

a. Verify that the disc bell and wheel hub mounting faces are free from burrs and dents;
otherwise these surfaces should be reconditioned.

b. The disc must fit onto the wheel easily.

c. Apply thermal paints on the disc external diameter (included the eventual fins and pillars) in
order to monitor operating temperature.

INSPECTIONS

a. Check that the disc clearance is the one prescribed by Brembo, even after assembly on the
car.
b. Check before and after the use that the disc doesn't touch in any part of the caliper.

CALIPERS

MOUNTING

a. The caliper fixing to the upright can be carried out with bolts or with gauged stud bolts and
nut; this system allows a more rigid fixing and it is recommended for all the applications on
calipers with the radial fixing.

b. Mount the caliper onto the knuckle such that the arrow marked on the inner half-caliper
corresponds to the forward direction of rotation of the brake disc (the disc must enter the
caliper through the side corresponding to the smaller piston and exit through the other side
corresponding to the larger piston).

c. The caliper must be mounted in a symmetrical position with respect to the disc center line:
the difference between the dimensions "a" and "b" must be 0,6 mm MAX (see fig. 2).




a#b : 0,6 mm MAX

Fig. 2

d. The disc and pads protrusion must be 0,3 mm MAX (see Fig. 3 and Fig. 4).

> past

<C <<

= =

m m

@] - O -
=5 -

— F—

A N—

— R

A N—

— )

A | —

F— R

b1 | Fig. 3 Nl Fig. 4

e. Check that in no working condition the pads touch the disc fixing bell or the upright.
Assembly and disassembly of the pads must occur without any force; the pads radial and
lateral clearance inside the caliper must be 0,2 mm MIN; with the pistons in backward
position, the clearance between them and the back plate must be 0,5 mm MIN (see Fig. 5).

—h

0.2 MIN

==

;
%?
0.5 MIN

L
1000000 00000010
T T 1

] |

g. The clearance between disc outer circumference and Caliper Bridge must be 2 mm MIN,
with a difference between the two sides of 0.4 mm MAX (see Fig. 6).

Fig. 5




Fig. 6

h. The M 10x1 bleed screws tightening must be carried out with a torque of 12 - 16 Nm. Apply
thermal tape on the external half-caliper in order to monitor operating temperature these can
be supplied by BREMBO under part number R 02.5168.10.

MASTER-CYLINDER/CALIPER CONNECTION

CHOICE OF TUBING

a. Where it is possible, we recommend the use of steel rigid pipes, since they do not increase
brake fluid displacement.

b. In case, flexible brake hoses are used, it is necessary to use the Teflon type with braided
steel sheath.

c. The hoses internal diameter must be 2.5 or 3 mm; the brake fluid displacement of 1 meter of
these hoses is 0.2 cm MAX (for the type having internal diameter 2.5 mm), and 0.3 cm MAX
(for the type having internal diameter 3 mm) at the pressure of 70 bar; hoses with a smaller
diameter restrict fluid flow, while hoses with a bigger diameter would considerably increase
the brake fluid displacement of the system.

MOUNTIG
a. Pipe fittings must be tightened to the prescribed torque.
b. The pipe fittings seal must be sealed with annealed aluminum or copper seals; these seals
can be used only once.
c. Check that tubes are not squashed or pinched and that they are not subjected to high
temperatures (in the vicinity of the engine, exhaust pipes, etc.)
BRAKE FLUID
CHOICE
a. Use only high boiling point DOT 3 or DOT 4 brake fluids.
b. Use only brake fluid from a new and sealed container.
c. Change brake fluid before each race.
NOTES

a. Use of liquids other than brake fluids will damage the braking system components.

b. Since the brake fluid is hygroscopic, we have to consider that in presence of high humidity,
the boiling point can be considerably lowered; in these cases the brake fluid has to be
replaced daily.

BRAKING SYSTEM BLEEDING
a. In the case of a braking system controlled by two parallel master cylinders operated by a

rod, bleed one front and one rear caliper, in order to allow both master cylinders a complete
stroke.




b. Every time the pedal is back, let master cylinder refill simultaneously for at least 2 seconds
before pushing the pedal.

c. When the bleeding is finished, keep in pressure for at least 10 seconds, checking that there
aren't any leakages.

d. Refill the reservoirs.

WORKING INSPECTIONS

After running a few kilometers, proceed with the following inspections:

a. The wheels must rotate freely without any residual torque.

b. There must be no contact between disc and caliper.

c. No pulsations must be felt on the pedal, otherwise identify which disc causes the problem
and check again the disc/bell and bell/hub assemblies.

RUNNING-IN

For the discs and pads burnishing, it is necessary to follow the running in procedure relative to the friction
material used; it is however necessary to assure that during the first kilometers, low pressure applications
are carried out for short times in order to allow the bedding of all the pad surface on the disc. Only later
you will be able to proceed to the real running in which will end when every pad has reached the best
working condition. The running in procedure (bedding of the disc/pads coupling surfaces) must also be
carried out when already run-in or used pads are used. Only after the running in is performed, it is
possible to take advantage of the braking system braking capacity.

BRAKING SYSTEM FINAL INSPECTIONS

a. There must not be any interference between disc and caliper.

b. The max temperature reached by the calipers must be lower than 180°C (inspection to be
carried out through the thermo tapes applied on the calipers - see point 6.1.h).

c. Check the working temperature of the discs, verifying the changes occurred to the thermal
paints applied on the external diameter of the discs (see point 5.2.c and Fig. 7):

TEMPERATURE OF
PAINTS COLOUR TONER NOTES
Green 430°C Can change completely
Orange 560°C Can che!nge over of the
braking surfaces
Red 610°C Can change only near
the braking surfaces

Fig. 7

If none of the three paints has changed and the braking system performance is not considered
satisfactory, it is necessary to reduce the discs ventilation. Furthermore a rapid quick cooling could
increase the risk of cracks on the discs.

If all three paints change completely, it is necessary to improve the cooling. A high working temperature
of the discs causes a decay of the braking power and excessively high temperatures in the brake
calipers.




BRAKING SYSTEM BALANCING

The braking system has to be chosen in function of the vehicle characteristics; it is very important that the
max braking power be equally distributed between the front and the rear axles; when the braking system
is correctly balanced, the working temperatures of the front and rear brakes must be similar. It is possible
to adjust brake balance between the front and rear axles through the adjustment rod, but only for
variations up to 10% MAX: in fact the pedal force must be always applied in the vicinity of the center of
the adjusting rod in order to obtain a good efficiency of the brake pedal mechanism. If the system isn't
balanced even after adjusting, the causes must be searched somewhere else: master cylinders diameter,
caliper type, disc diameter etc. In any case, before replacing any components, it is necessary to make
sure that the combination of components works correctly. A good general rule to obtain a good efficiency
is however to have as similar as possible the master cylinders loads and strokes.

INSPECTION OF THE BRAKING SYSTEM AFTER USE

After every race, it is necessary to proceed with the following inspections and interventions:
FITTINGS

Verify that there are no leakages from the various components, connections, or fittings. If a leak is found
on one of the fittings, either increase the tightening torque, or replace the defective component.

BRAKE DISC

Check carefully the disc braking surfaces.
The disc can't be used again if:
- on the braking surfaces there are cracks having length higher than 5 mm; in case the crack
begins from the external or internal diameter, even if the length is shorter, the disc must be
replaced (see Fig. 8).

x
<
=
n
UNACCEPTABLE
RACKS
©
©
7 )
<
Z .
n Fig. 8

- It has a wear of 1 mm compared to the new thickness (0,5 mm on both sides);
- The braking surfaces show scorings, which can damage the correct pad/disc contact.

CALIPERS

a. Check that the external half calipers connecting pipes are not bent or dented, caused i.e. by
the entrance of stones between the wheel and the caliper; in case of damage, overhaul the
caliper.

b. Check the max temperatures reached by the caliper, checking the thermo tapes applied on
the internal half caliper:

c. if a temperature of 180 °C is reached, we recommend the overhauling of the caliper or to replace the
seals;

d. If a temperature of 210 °C is reached (max value of temperature the caliper can stand for
short periods), it is absolutely necessary to overhaul immediately the caliper and search the
causes of the overheating, since under these conditions the correct operation of the brake
isn't guaranteed anymore.




PADS

PAD WEAR INSPECTION

Pads should not have a friction material thickness lower than 2 mm MIN; if the pads are excessively worn,
they must be changed.

ABNORMAL WEAR

The pads must no show excessively anomalous or uneven wears; the following must be checked:
a. Pad tangential taper wear difference must not exceed 1 mm MAX, bearing in mind that the
direction of wears of the same caliper must be according to what shown on the Fig.9.

1 MAX 1 MAX

- u ]
\ﬁ
~

|

i

I
SISESHSESES

I

&

Fig. 9

I

b. Pad radial taper wear difference must not exceed 1 mm MAX, bearing in mind that the
direction of wears of the same caliper must be according to what shown on the Fig.10.
Defective or excessively worn pads must be changed.

0.5 MAX 0.5 MAX

ap

900 O OO0
000 ©C 000

\

IICTOOaH -

Fig. 10

BACK PLATE DEFORMATION

Back plate flatness error must not exceed 0.2 mm MAX (see Fig. 11);
- in case of excessive back plate flatness error, the pads must be changed.




0.2 MAX

\-‘” | | T__T | Fig. 11

GENERAL NOTES

OVERHAULING AND REPLACEMENT

- Master Cylinder
These must be overhauled after 5000 km MAX of running, or when problems arise;

- Calipers
They must be overhauled after 5000 km max of running, or when problems arise, or if the temperatures go above
those shown at point 14.3.b.

VARIOUS

a. The external cleaning of the master cylinder and calipers must be carried out with non-
corrosive agents and anyway not with solvents, gasoline or similar, since these products
could damage rubber components (seals and dust boots).

b. During warehousing protect the inlet and outlet holes of the master cylinder and of the

calipers with the appropriate caps.

Half-caliper union bolts cannot be re-screwed, or carry out modifications to the calipers.

Replacement of components with non-BREMBO parts is not permitted.

e. BREMBO recommends the overhauling of its products through its own authorized personnel;
therefore BREMBO doesn't take the responsibility for overhauling carried out by someone
else.

oo




CALIPERS




P/N XA6.L6.11/12
2 PISTON CALIPER

School Cars

Trailing
RH XA6.L6.12
LH XA6.L6.11

TECHNICAL SPECIFICATION

Piston Size [mm] 36

Piston Area [cm?] 20.35
Pad Area [cm?] 32
Pad Thickness [nm] 14.6
Pad Family "77"
Disc Thickness [mm] 20
Hydraulic Threads M10x1

Mounting Hole Center [mm] 114

TYPICAL APPLICATION

MOUNTING INFORMATION

Leading
RH XA6.L6.14
LH XA6.L6.13

Mounting Offset [mm]
Mounting Hole Dia. [mm]
Caliper Body

Caliper Material

Piston Insert

Weight [Kg]

Fluid Capacity

29.79
M10x1.5
2 Pieces

Aluminium

1.42
20.56

g DISC| A B 4

316 |184,2(178,4[150,5

108,6

g DISC R ITH DISC| W(p1sc)

H (PaD)

TH PAD

316 134 20 49

45,05

14

XABLETT12




P/N X97.24.01
2 PISTON CALIPER

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Trailing Leading
RH X97.24.01 RH X97.24.01
LH X97.24.01 LH X97.24.01
TECHNICAL SPECIFICATION
Piston Size [nm] 38 Piston Area [cm?] 22.68 Mounting Offset [mm] 30.5
Pad Area [cm?] 24.8 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 15 Caliper Body 2 Pieces
Pad Family "62" Caliper Material ~ Aluminium
Disc Thickness [mm] 6.4-9 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.25
Mounting Hole Center [mm] 95 Fluid Capacity 23.81

@18.1

38

30.6

62

—_
=
_1
TYPE “62" FAMILY
BDISC| R |THDISC] Yeaises | Hemaos | TH PAD
goiscC| A B c D E F MIN | 278 | 116.3 | 6.4 47 41.5 15
278 | 163 [142.5| 142 | 94.9 | 90 87 Max | 278 | 116.3 9 47 1.5 15




P/N X97.24.10
2 PISTON CALIPER

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Trailing Leading
RH X97.24.10 RH X97.24.10
LH X97.24.10 LH X97.24.10
TECHNICAL SPECIFICATION
Piston Size [nm] 38 Piston Area [cm?] 22.68 Mounting Offset [nm] 34
Pad Area [cm?] 24.8 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 15 Caliper Body 2 Pieces
Pad Family "62" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.30
Mounting Hole Center [mm] 95 Fluid Capacity 23.81

?18.1

30.6

210,23 &
Q
@20 gw
s
90.5
70
34
[
I
L
Iyl
I
| IJI =
14
| i
58 a 62
3I
| o|lo|o| w|w Q ‘ ol a (@]
"y mEE——
! ==
1 3 _ -

TYPE "62" FAMILY

@DISC| A B C D E F @ DISC R TH DISC| V.oiee) | Hemmos | TH PAD
278 163 |142.5| 142 | 94.9 | 90 87 278 116.3 16 47 41.5 15




P/N X97.24.21

2 PISTON CALIPER

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

TECHNICAL SPECIFICATION

Piston Size [mm]

42

Trailing Leading
RH X97.24.21 RH X97.24.21
LH X97.24.21 LH X97.24.21
Piston Area [cm?’] 27.70 Mounting Offset [mm] 30.5
Pad Area [cm?] 24.8 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 15 Caliper Body 2 Pieces
Pad Family "62" Caliper Material ~ Aluminium
Disc Thickness [mm] 6.4-9 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.25
Mounting Hole Center [mm] 95 Fluid Capacity 29.09

918.1

2

S

| || @10.23

@20
83.5
63
30.5

L: R

62

TYPE "62" FAMILY

$D0ISC| R |THDISC| Veoimes | Hemaos | TH PAD

@DISC| A B

E F MIN 218 [116.3 | 6.4 47 41.5 15

218 163 | 142.5

142

94.9

90 87 MAX 278 | 116.3 9 47 a1.5 15




P/N X97.24.51
2 PISTON CALIPER

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Trailing Leading
RH X97.24.51 RH X97.24.51
LH X97.24.51 LH X97.24.51
TECHNICAL SPECIFICATION
Piston Size [mm] 42 Piston Area [cm?] 27.70 Mounting Offset [nm] 34
Pad Area [cm?] 24.8 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 15 Caliper Body 2 Pieces
Pad Family "62" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert -
Hydraulic Threads  M10x1 Weight [Kg] 1.25
Mounting Hole Center [mm] 95 Fluid Capacity 29.09

P=38

62

a
=

TYPE "62" FAMILY

@DIsC| A B C D E F @ DISC R TH DISC|| Weoracs | Hemmos | TH PAD
218 163 [ 142.5| 142 | 94.9 | 90 87 278 116.3 16 47 41.5 15
X972451




P/N X97.24.31

2 PISTON CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Trailing
RH X97.24.31
LH X97.24.31

Leading
RH X97.24.31
LH X97.24.31

Piston Size [mm] 44 Piston Area [cm?] 30.41 Mounting Offset [mm] 30.5
Pad Area [cm?] 24.8 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 15 Caliper Body 2 Pieces
Pad Family "62" Caliper Material ~ Aluminium
Disc Thickness [mm] 6.4-9 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.25
Mounting Hole Center [mm] 95 Fluid Capacity 31.93
AN
g 10.23
g20
83.5
63 95
r.§°_~5_
\ i
i
[N
| (AR
‘ - 62
51 3 @ o
<|o|lo|lo|w ¢ ‘ =N -
N 9
T TYPE *62" FAMILY
@DISC| R |THDISC) Woracs | Hemaos | TH PAD
goisc] A [ 8] c o Ee]cF MIN | 218 [116.3 | 6.4 n [as ] s
278 163 | 142.5| 142 | 94.9 90 87 MAX 278 116.3 9 a7 41.5 15




P/N X97.24.61
2 PISTON CALIPER

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Trailing Leading
RH X97.24.61 RH X97.24.61
LH X97.24.61 LH X97.24.61
TECHNICAL SPECIFICATION
Piston Size [mm] 44 Piston Area [cm?] 30.41 Mounting Offset [nm] 34
Pad Area [cm?] 24.8 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 15 Caliper Body 2 Pieces
Pad Family "62" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.25
Mounting Hole Center [mm] 95 Fluid Capacity 31.93

@18.1

37

30.6

90.5
70
34
i :
Ll ()\ @ INIZa\Y
i B I %
| [N ~
e _ — — —
‘ . II' T T 62
a
58 3
2 @] o
< olo|lo| w|uw (t ‘ =2l pr—————
\ £ ES
|
T - TYPE "62" FAMILY
@DISC| A B C D E F @ DISC R TH DISC| V.oiee) | Hemmos | TH PAD
278 163 |142.5| 142 | 94.9 | 90 87 278 116.3 16 47 41.5 15




P/N XA3.G2.11/14
4 PISTON CALIPER

TYPICAL APPLICATION
Rally

MOUNTING INFORMATION

Trailing Leading
RH XA3.G2.12 RH XA3.G2.14
LH XA3.G2.11 LH XA3.G2.13
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [cm?] 24.75 Mounting Offset [mm] 53.5
30 Pad Area [cm?] 38 Mounting Hole Dia. [nm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~Aluminium
Disc Thickness [mm] 24 - 25.4 Piston Insert  Steel
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 120 Fluid Capacity 50.74

?18
H
A,
e
o
|l#10,25 -
[ -
R10,2 < I
15,8 al~ é_
=
128,6 B
102,2
120
53,5
2y
e
I
l
© I
[y
n
RS ] | 7|
A/;

él 100

TYPE "100" FAMILY

9 DISC| A B [ D E 0 DISC R TH DISC| W(p1sc)| H(pap) |[TH PAD
278 161 [136,8) 95,5 | 94,3 92 HIN 278 118,4 24 45 42,5 20
313 (178,5(154,3| 118 [111,8|109,5 HAX 813 |135,5 [ 25,4 45 42,5 20

XA3621114




P/N XA2.E7.11/14
4 PISTON CALIPER

TYPICAL APPLICATION
GT

MOUNTING INFORMATION

Trailing Leading
RH XA2.E7.12 RH XA2.E7.14
LH XA2.E7.11 LH XA2.E7.13
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cm?] 32.67 Mounting Offset [mm] 62
36 Pad Area [cm?] 63 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 25 - 26.5 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~Aluminium
Disc Thickness [mm] 32-35 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 2.95
Mounting Hole Center [mm] 130 Fluid Capacity 66.97
&
132
< @ o d u #I
TYPE "132" FAMILY
9 DISC A B [ D E @ DISC R TH DISC| W(prsc)| H(pap) [TH PAD
332 191 168 |112,5(111,5]|109,6 WIN 332 140 32 53 49 25
355 202 179 124 123 [121,6 HAX 355 1681,7 35 58 49 26,5

XA2E71114




P/N XA6.H7.11/14
4 PISTON CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION

Grand AM

MOUNTING INFORMATION

Trailing
RH XA6.H7.12
LH XA6.H7.11

Leading
RH XA6.H7.14
LH XA6.H7.13

Piston Size [mm] 28 Piston Area [cm?] 32.67 Mounting Offset [nm] 62
36 Pad Area [cm2] 63 Mounting Hole Dia. [mnm] 12.23
Pad Thickness [mm] 22 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Steel
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 130 Fluid Capacity 57.17
279,7 |
736 728
a8 3
o) A7 I
Ri2 “
B 150,56 :N
117,8
62
b T
S I 3
: ) C
! I_L‘*iﬁ 132
\ a
104,5 o
<) o o d| u =2
a =
¢ | - I
¥ ””””” TYPE "132" FAMILY
9 DISC| A B 4 D E 0 DISC R [TH DISC| W(pisc)| H(pap)|TH PAD
332 191 168 (112,5/111,5|109,6 WIN 332 140 32 53 49 22
355 202 179 124 123 |121,6 HAX 355 181,7 32 53 49 22

XABHT1114




P/N X98.A8.41/44
4 PISTON CALIPER

TYPICAL APPLICATION

GT

MOUNTING INFORMATION
Trailing
RH X98.A8.42
LH X98.A8.41

TECHNICAL SPECIFICATION

Leading
RH X98.A8.44
LH X98.A8.43

Piston Size [mm] 30 Piston Area [cm?] 34.49 Mounting Offset [mm] 42
36 Pad Area[cm?] 62 Mounting Hole Dia. [mm] 12.28
Pad Thickness [mm] 16 Caliper Body 2 Pieces
Pad Family "B13”" Caliper Material ~ Aluminium
Disc Thickness [mm] 28 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.20
Mounting Hole Center [mm] 180 Fluid Capacity 39.67
253,9
P20
1T 736 @30
f (3]
5 © ‘T
| | 7
To]
#12,23 ™
(3]
I @14
B L ol
|| P4
112 . 180
87,5
62
. 42
=/ -
e aanl
‘ i 132
7 e N\~ —
76,5 a
= ==
< |0 OO w|w LA§ZJJEA% g
¢ s TYPE "B12" AND
I‘L— shy "B13" FAMILY
O DISG| A B c D E | F ® DISC R [TH DISC| W(pisc)| H(pap) [TH PAD
295 |[170,9|152,1[150,8|100,5| 95,7 | 94,1 WIN 295 128,8 | 25,4 47,3 43,5 16
320 (181,5(168,8|162,2(112,6|108,3|106,3 HAX 320 136,3 28 52,5 49,7 16

X98A84144




P/N XA6.50.01/04
4 PISTON CALIPER

TYPICAL APPLICATION
F3

MOUNTING INFORMATION

Trailing Leading
RH XA6.50.02 RH XA6.50.04
LH XA6.50.01 LH XA6.50.03
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [cm?] 34,49 Mounting Offset [nm] 40
36 Pad Area [cm’] 36,3 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 16 Caliper Body Monobloc
Pad Family "B10" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1,21
Mounting Hole Center [mm] 120 Fluid Capacity
7#18
T, 2
S lfioi[ 3?
1] r0.es :
720 ‘;
2
o -
103,25 © g ///
68,5 b N
40
» = 120
N X - —— —— T ]
%— 7 ‘ i ‘ _ - \
‘ § ! ‘ 3 \‘ I il 1 i ”\
! s |- e
Sl |
<|of|d|d|u « ‘ °
oo 0o - N ————— -~ B10
o DISC| A B c D E ® DISG| R | THDISC | Wipreoy | Hipany | TH PAD
278 [156,6|145,5| 141 | 96,1 | 92,4 278 |120,4| 18 39 | 37,5 16
XA6S00104




P/N XA7.G0.11/12
4 PISTON CALIPER

TYPICAL APPLICATION
Rally

MOUNTING INFORMATION

Trailing Leading
RH XA7.G0.11 RH
LH XA7.G0.12 LH
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [cm?] 24.75 Mounting Offset [mm] 30,2
30 Pad Area [cm?] 38 Mounting Hole Dia. [nm] M12x1,5
Pad Thickness [mm] 20 Caliper Body Monobloc
Pad Family “B09” Caliper Material ~Aluminium
Disc Thickness [mm] 24 - 25,4 Piston Insert  Steel
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 146 axial Fluid Capacity
‘ 201,2 |
20|
Y
H = o[
> 146 N oo
) M12x1,5-6H x2)\ 3
R15 (x2 N !
(x2) o 4 opIsc | o
109,1 :
105,9
) 99,8 )
85,3
57,4 , 48,7
= 1
‘ 100
‘13 Fa = o
‘ - =n_ =
<|mloawuo 30,2 L 2 ‘
¢ | 8 TYPE "B09" FAMILY
—— =]
® DISC R |TH DISG| W(p1sc)| H(pap) |TH PAD
o DISG| A B C )] E F [ UIN 295 | 126,7 24 45 43 20
295 |167,5(159,6(154,6| 149 |146,9( 188 [101,2 HAX 295 | 126,7 | 25,4 45 43 20
XA7G01112




P/N XA4.67.51/54
4 PISTON CALIPER

TECHNICAL SPECIFICATION

Piston Size [mm] 36
42

TYPICAL APPLICATION

World Series

MOUNTING INFORMATION

Trailing
RH XA4.67.52
LH XA4.67.51

Piston Area [cm?] 48.06
Pad Area [cm?] 55
Pad Thickness [mm] 23
Pad Family "132-H43"
Disc Thickness [mm] 28
Hydraulic Threads M10x1

Mounting Hole Center [mm] 152

Leading
RH XA4.67.54
LH XA4.67.53

Mounting Offset [mm]
Mounting Hole Dia. [mm]
Caliper Body

Caliper Material

Piston Insert

Weight [Kg]

Fluid Capacity

49
12.23
Monobloc

Aluminium

132.1




P/N XA2.E7.01/04
4 PISTON CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION

GT

MOUNTING INFORMATION

Trailing

RH XA2.E7.02

LH XA2.E7.01

Leading
RH XA2.E7.04
LH XA2.E7.03

Piston Size [nm] 38 Piston Area [cm?] 50.39 Mounting Offset [mm] 62
42 Pad Area [cm?] 63 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 25 - 26.5 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~Aluminium
Disc Thickness [mm] 32-35 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 2.95
Mounting Hole Center [mm] 130 Fluid Capacity 103.3
279,7
221 a2 »38
L -
g ‘ . » = \\‘ Z,:.;
0 i TIDL Ku; [e) ﬁ/@ \\\ f =||‘
‘ ‘gmz,za : (24) s\/
w = ‘
ale ! @
150,58 = o $D1SC
117,8 |
62 130
’éi T 1
‘ q ‘*
e s i i
: i C B |
— | [ |
< w4l gl u 104,5 o \y\\M\'\\ 1N
ol [ J
l ””””” TYPE "132" FAMILY
6 DISC| A B 4 D E 6 DISC R [TH DISG| Wip1sc)| H(pan) [TH PAD
382 191 168 [112,5|111,5(109,6 WIN 332 140 32 53 49 25
355 202 179 124 123 (121,6 WAX 355 | 151,7 35 53 49 26,5
XA2ET0104




P/N XA4.C6.11/14
4 PISTON CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION

Nascar

MOUNTING INFORMATION

Trai

ling

RH XA4.C6.12
LH XA4.C6.11

Leading
RH XA4.C6.14
LH XA4.C6.13

Piston Size [nm] 38 Piston Area [cm?] 53.09 Mounting Offset [mm] 42
44 Pad Area [cm?] 65 Mounting Hole Dia. [mnm] 12.23
Pad Thickness [mm] 30 Caliper Body Monobloc
Pad Family "140B";"140C" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 -35 Piston Insert
Hydraulic Threads M10x1 Weight [Kg] 2.81
Mounting Hole Center [mm] 180 Fluid Capacity 161.9
20,1 268,8
\
|
|
140
106,8
42
8,8
RE N Y 7 "
e TYPE "140B" FAMILY
\ ] - -
'97, il ‘ , ‘ 40 ’ 1
R50,5 ‘ HH N
- -+ 140
92,3 -
127,71 of \ -
<[ e |of o ul et | E}N 4|52 |
¢ | - -
**3* TYPE "140C" FAMILY
@ DISC[ R [TH DISC| W(orsc)| H(pan) [TH PAD
0 DISC A B ¢ D E F G I L [ N 0 HIN 328 134,5 32 53,5 50,5 30
328 | 183 | 167 [156,8[112,5]109,8[104,6[100,7] 98,6 | 159 [178,1[197,5]227,1 wax | sas [1a4,5 | 85 64 | 81,5 | 80
XA4C61114

27




P/N XA4.D3.01/04
4 PISTON CALIPER

TYPICAL APPLICATION

Nascar

MOUNTING INFORMATION

Trailing Leading
RH XA4.D3.02 RH XA4.D3.04
LH XA4.D3.01 LH XA4.D3.03
TECHNICAL SPECIFICATION
Piston Size [nm] 38 Piston Area [cm?] 53.09 Mounting Offset [mm] 42
44 Pad Area [cm’] 66.5 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 25 Caliper Body Monobloc
Pad Family "140" Caliper Material ~Aluminium
Disc Thickness [mm] 32-35 Piston Insert
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 180 Fluid Capacity 135.3

L

TYPE"140 "FAMILY

B DISC B |TH DISC| Weozwos |H ¢maoy |TH PAD
B DISG| A B ¢ D E F ] H I 328 138 kL] 53.5 | 48.5 25
538 183 [171.1| 166 |160.8(151.1|129.1/112.5/110.3 108.3 324 138 32 53.5 | 48.5 2%

KA4D30104




P/N XA5.09.01/04
4 PISTON CALIPER

TYPICAL APPLICATION
Rally & WTCC

MOUNTING INFORMATION

Trailing Leading
RH XA5.09.02 RH XA5.09.04
LH XA5.09.01 LH XA5.09.03
TECHNICAL SPECIFICATION
Piston Size [nm] 38 Piston Area [cm?] 53.09 Mounting Offset [mm] 42
44 Pad Area [cm”]  60.9 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 17.5 Caliper Body Monobloc
Pad Family "140B";"140C" Caliper Material ~Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert -
Hydraulic Threads  M10x1 Weight [Kg] 2.47
Mounting Hole Center [mm] 180 Fluid Capacity 95.56

"

TYPE "140C" FAMILY

6 01SC] A B ¢ D E F 3 6 DISC| R [TH DISC| Wioisc)| H(pap) [TH PAD
300 [177,5[167,6] 154 [ 95,1 86,4 91,7 (60,0 wIN | 300 [124,5 | 28 | s2,5 | 50,5 [ 17,5
355 [197,5(194,5| 177 [121,8[113,3] 90,7 | 81,8 WAX | 855 |1s1,2 | 82 64 | 61,5 | 17,5

XA5080104




P/N XA5.90.01/04
4 PISTON CALIPER

TYPICAL APPLICATION

Nascar

MOUNTING INFORMATION
Trailing

RH XA5.90.02
LH XA5.90.01

TECHNICAL SPECIFICATION

Leading
RH XA5.90.04
LH XA5.90.03

Piston Size [nm] 38 Piston Area [cm?] 53.09 Mounting Offset [mm] 42
44 Pad Area [cm?] 65 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 20 Caliper Body Monobloc
Pad Family "140B" Caliper Material ~ Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert
Hydraulic Threads M10x1 Weight [Kg] 2.40
Mounting Hole Center [mm] 180 Fluid Capacity 108.8
140
< @l of o ul u #I
TYPE "140B" FAMILY
6 DISC| R |TH DISC| W(oisc)| H(pap) [TH PAD
6 DISC A B Y D E F WIN 328 138 28 53,5 50,5 20
328 [183,2| 166 |160,5(|112,7]107,2]102,1 HAX 328 138 32 53,5 | 50,5 20

XA5900104




P/N XA5.T0.01/04
4 PISTON CALIPER

TYPICAL APPLICATION
Rally

MOUNTING INFORMATION

Trailing Leading
RH XA5.70.02 RH XA5.T0.04
LH XA5.70.01 LH XA5.70.03
TECHNICAL SPECIFICATION
Piston Size [nm] 38 Piston Area [cm?] 53.09 Mounting Offset [mm] 42
44 Pad Area [cm”]  60.9 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 17.5 Caliper Body Monobloc
Pad Family "140B";"140C" Caliper Material ~Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert  Steel
Hydraulic Threads M10x1 Weight [Kg] 2.66
Mounting Hole Center [mm] 180 Fluid Capacity 95.56
%20, 1 269,4
paa | 738
° NI 12{ /e @@ 7T4L
Bcigseie 3N
EF ‘ #12,23 -
|| oes g [
116,5
115,5 140
I 36,5
re %
42 R 180
— ! L~

l EEEN TYPE "140B" FAMILY

‘ 140

80,5 l o

@

< o d| o u| Wl o 7
el e |

* ~—

FAMILY
% DISC| A B [ D E F [ 1 L '} @ DISC| R |TH DISC| W(prsc)| H(pan) | TH PAD
300 |[176,6(163,3|150,7(118,1|112,9| 95 | 86,4 [101,5( 42,3 (27,2 HIN 300 |124,5 | 28 52,5 | 50,56 | 17,5
355 | 196 |189,5|176,1(143,1]|138,1|121,8[113,38[ 98,3 [ 66,5 [ 28,3 HAX 355 |151,2 | 82 64 61,5 | 17,5

XA5T0O104




P/N XA4.10.01/04
4 PISTON F3 CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION
F3

MOUNTING INFORMATION

Trailing Leading
RH XA4.10.02 RH XA4.10.04
LH XA4.10.01 LH XA4.10.03

Piston Size [mm] 34 Piston Area [cm?] 40.84 Mounting Offset [nm] 40
38 Pad Area [cm’] 36.5 Mounting Hole Dia. [nm] 10
Pad Thickness [mm] 16 Caliper Body 2 pieces
Pad Family "100-H38.5" Caliper Material ~Aluminium
Disc Thickness [nm] 16 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.30
Mounting Hole Center [mm] 120 Fluid Capacity 51.05
100
€< o o H
—
TYPE "100 A" FAMILY
B DISG| A B G b E B DISC R TH DlSG" Ninraey| Hwany |TH FAD
278 | 156 | 143 | 140 |96.35| 95 e7g [120.4 | 18 | 40 | 38.5 | 1%

TR 100104




P/N XA1.37.11/14
4 PISTON F3000 CALIPER

TYPICAL APPLICATION
F3000

MOUNTING INFORMATION

Trailing Leading
RH XA1.37.12 RH XA1.37.14
LH XA1.37.11 LH XA1.37.13
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [cm?] 48.06 Mounting Offset [mm] 44.1
42 Pad Area [cm?] 55 Mounting Hole Dia. [nm] 9.75
Pad Thickness [mm] 18 Caliper Body 2 pieces
Pad Family "132" Caliper Material ~ Aluminium
Disc Thickness [mm] 28 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.86
Mounting Hole Center [mm] 152 Fluid Capacity 64.88

o18
= L ]
@
I [
w "
\% g :o.
09.75 &
®20 Bl
8
114.6
113'5 | '52
94.8
1.1 &

Nl

132 ,

= g

) - —
_JC_ TYPE "132" FAMILY

@ DISC R TH DISC] Vioiees | Hemaos | TH PAD
@oISC| A B c D E F G MIN 280 | 117.5 28 45 43 18
280 | 156.6(142.4]136.2| 98 96 90 |141.8 MAX 280 | 117.5 | 25.4 45 43 18

4
_
R T




P/N 20.8271.10/40

4 PISTON GT CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

TECHNICAL SPECIFICATION

Piston Size [mm] 28
36

Trailing Leading
RH 20.8271.20 RH 20.8271.40
LH 20.8271.10 LH 20.8271.30
Piston Area [cm?’] 32.67 Mounting Offset [mm] 42
Pad Area [cm®] 65 Mounting Hole Dia. [mm] 12.23
Pad Thickness [mm] 26 Caliper Body Monobloc
Pad Family "140" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.98
Mounting Hole Center [mm] 180 Fluid Capacity 66.97

134

"P*= 63.5

140

=

goIsC| A B C D

TYPE "140" FAMILY

E F G L @ DISC R |THDISC

355 200 [178.9]170.2 131

cDisc)

Hmeos | TH PAD

.2]123.3]1123.3]121.3[179.5 355 | 151.3 32

52.5

50 26




P/N X9.060.91/94
4 PISTON GT CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

Trailing Leading
RH X9.060.92 RH X9.060.94
LH X9.060.91 LH X9.060.93
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [cm?] 45.49 Mounting Offset [mm] 42
40 Pad Area [cm?] 65 Mounting Hole Dia. [mnm] 12.23
Pad Thickness [mm] 26 Caliper Body Monobloc
Pad Family "140C-C" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.92
Mounting Hole Center [mm] 180 Fluid Capacity 86.43
g20
= é’!\ .
] b
1 ~ ."
[[[1g12.23 .
A2 5
2!\]
134
T
k8
I 140
< (oo |0 |w|w o] { V, N
SN — \_z
TYPE "140 C-C" FAMILY
goisc] A [ B[ cJoJeJFrlse L BDISC| R |TH DISC] Weorses | Homaos | TH PAD
332 |188.5] 168 |167.4]168.7] 120 | 112 [111.8]109.8 MIN | 332 | 140 | 37 53 53 | 26.5
355 | 200 [179.5[178.9[170.2|131.5[123.5[123.3]121.3 max | 355 | 151 [ 37 53 53 | 26.5




P/N X99.73.11/14
4 PISTON GT CALIPER

TYPICAL APPLICATION
Porsche Grand Touring (GT3-R) front

MOUNTING INFORMATION

Trailing Leading
RH X99.73.12 RH X99.73.14
LH X99.73.11 LH X99.73.13
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [cm?] 50.76 Mounting Offset [mm] 42
44 Pad Area [cm?] 77 Mounting Hole Dia. [nm] 12.15
Pad Thickness [mm] 26.5 Caliper Body 2 Pieces
Pad Family "132A" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 4.00
Mounting Hole Center [mm] 210 Fluid Capacity 111.6

*P"=63.5

132

=y

TYPE "132A" FAMILY

@ DISC
380

@ DISC R |TH DISC] Voiscs | Himeo, | TH PAD
380 158 32 64 61 26




P/N X9.060.51/54
4 PISTON GT CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

Trailing Leading
RH X9.060.52 RH X9.060.54
LH X9.060.51 LH X9.060.53
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [cm?] 53.09 Mounting Offset [mm] 42
40 Pad Area [cm?] 65 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 25 Caliper Body Monobloc
Pad Family "140"-"140C-C" Caliper Material ~ Aluminium
Disc Thickness [nm] 35 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.92
Mounting Hole Center [mm] 180 Fluid Capacity 103.5
277.5

63.5

140

—_

TYPE "140 C-C" FAMILY

140

A

TYPE 140" FAMILY

@DISC| A B C D E F G L @ DISC R TH DISC| Weoiscs | Hemnoy | TH PAD
332 | 188.5| 168 |167.4)158.7| 120 112 | 111.8]109.8 MIN 332 140 28 53 50 25
355 200 | 179.5|178.9|170.2 | 131.5/123.5|123.3|121.3 MAX 355 151 35 53 53 26.5

X90605154




P/N X9.060.71/74
4 PISTON GT CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

Trailing Leading
RH X9.060.72 RH X9.060.74
LH X9.060.71 LH X9.060.73
TECHNICAL SPECIFICATION
Piston Size [nm] 38 Piston Area [cm?] 53.09 Mounting Offset [mm] 42
44 Pad Area [cm?] 65 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 25 Caliper Body Monobloc
Pad Family "140"-"140C-C" Caliper Material ~ Aluminium
Disc Thickness [nm] 35 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.92
Mounting Hole Center [mm] 180 Fluid Capacity 103.5

"P"=63.5

140

= 9
e

TYPE "140 C-C* FAMILY

TYPE "140" FAMILY

@DISC| A B C D E F G L @ DISC R |TH DISC| ¥ioiacs | Hemaos | TH PAD
332 |188.5| 168 |167.4|158.7| 120 | 112 |111.8|109.8 MIN 332 140 32 53 50 26.5
355 200 [179.5[178.9[170.2[131.5[123.5|123.3|121.3 MAX 355 151 32 53 53 26.5




P/N XA2.30.11/14
4 PISTON LATE MODEL REAR

TYPICAL APPLICATION

Late model rear

MOUNTING INFORMATION

TECHNICAL SPECIFICATION

Trailing Leading
RH XA2.30.12 RH XA2.30.14
LH XA2,30,11 LH XA2,30,13

Piston Size [mm] 26 Piston Area [cm?] 24.75 Mounting Offset [nm] 40
30 Pad Area [cm?] 39.5 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 16 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 120 Fluid Capacity 30.94
202.4
<ﬂ 930
— “ iy
‘ ‘ @10.23 ZJ\_
R10 E <\.|
Wl
100
97
100
TYPE *100" FAMILY
@ DIsC A B C ] E F G H @ pIsc R TH DISC] Weoises | Hemmos | TH PAD
278 156 | 150.7 |142.45| 140 135 | 99.5 | 95.7 | 94.5 278 118.4 16 45 42.5 16
XA2301114




P/N XA2.30.31/34
4 PISTON LATE MODEL REAR

TYPICAL APPLICATION

Late model rear

MOUNTING INFORMATION

Trailing Leading
RH XA2.30.32 RH XA2.30.34
LH XA2.30.31 LH XA2.30.33
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [cm?] 32.29 Mounting Offset [nm] 40
34 Pad Area [cm?] 39.5 Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 16 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 120 Fluid Capacity 40.36

202.4

100

/’ﬁ\’

TYPE *100" FAMILY

goisc| A B C D E F G H @ DISC R TH DISC|| Weoises | Hepaoy | TH PAD
218 156 | 150.7 |142.45| 140 135 199.5]95.7 | 94.5 278 118.4 16 45 42.5 16
XA2303134




P/N XA2.E5.01/04
4 PISTON NASCAR REAR

TYPICAL APPLICATION

Nascar rear

MOUNTING INFORMATION

Trailing Leading
RH XA2.E5.02 RH XA2.E5.04
LH XA2.E5.01 LH XA2.E5.03
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [cm?] 24.75 Mounting Offset [mm] 53.5
30 Pad Area [cm’] 63 Mounting Hole Dia. [nm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~ Aluminium
Disc Thickness [nm] 28 - 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.20
Mounting Hole Center [mm] 120 Fluid Capacity 36.39

?19
A
S .
‘ ‘ ‘ #10.25
@20 &
2
Sl
132 =
84.7

(Y
‘ 132

Q o

< |m l
-
—
TYPE "132" FAMILY

@ DISC A B C D E F @ DISC R TH DISC|| Weoises | Heraos | TH PAD
313 | 176.5|160.2| 159 |110.9|107.5|105.9 MIN 313 134 2B 47.5 43 20
328 183 | 166.7|165.5 | 117.4| 114 |112.4 MAX 328 140.3 32 53.5 49 20

XA2E50104




P/N XA2.E5.11/14
4 PISTON NASCAR REAR

TYPICAL APPLICATION

Nascar rear

MOUNTING INFORMATION

Trailing
RH XA2.E5.12
LH XA2.E5.11
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [cm?] 32.29
34 Pad Area [cm’] 63
Pad Thickness [mm] 20
Pad Family "132"
Disc Thickness [mm] 28 - 32
Hydraulic Threads M10x1
Mounting Hole Center [mm] 120

Leading
RH XA2.E5.14
LH XA2.E5.13

Mounting Offset [mm]
Mounting Hole Dia. [mm]
Caliper Body

Caliper Material

Piston Insert

Weight [Kg]

Fluid Capacity

53.5

10.25

2 Pieces
Aluminium
Titanium
2.15

47.47

?19
2=
‘ ‘ $10.25
@20 n.-
5
2l
132 =
84.7
53.5
. 22.3
'{lo —
R
"R
‘ i
‘\
| | -
| \_&__A;, ~
95 | &
< Do | O w|u ‘ %
e
N» ®
B DISC A B C D E F
313 176.5|160.2 | 159 |110.9|107.5{105.9
328 183 | 166.7 | 165.5 | 117.4| 114 |112.4

o

—
TYPE "132" FAMILY

=

@ DISC R TH DISC | Weprees

wany | TH PAD

MIN

313 134 2B 47.5

43 20

MAX

328 140.3 32 53.5

49 20

XA2ES1114




P/N XA3.A4.41/44
4 PISTON NASCAR RESTYLING REAR

TYPICAL APPLICATION

Nascar rear

MOUNTING INFORMATION

Trailing Leading
RH XA3.A4.42 RH XA3.A4.44
LH XA3.A4.41 LH XA3.A4.43
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [cm?] 24.75 Mounting Offset [mm] 53.5
30 Pad Area [cm?] 38 Mounting Hole Dia. [nm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 24 -25.4 Piston Insert  Titanium
Hydraulic Threads  M10x1 Weight [Kg] 1.75
Mounting Hole Center [mm] 120 Fluid Capacity 40.84
o 319
‘ ‘;zt 10.25 i
020 d
2
128.6
95.83
53.5
i"( 5\/ rﬁﬂ-i 120
L )
) \é( ‘ q
| L, :
‘ i . ta 100
<l mlo|la i | E‘ %ﬁ\f
¢ ‘ ® IT
o ’7" - TYPE "100" FAMILY
golsc| A B C D @ DISC R TH DISC| Weoises | Hemmos | TH PAD
278 | 1596.6|150.8 | 140.0 | 93.5 MIN 278 118.4 24 45 42.5 20
33 174.1168.3 | 157.5| 111 MAX 313 135.5 25.4 45 42.5 20

XA3A44144




P/N XA3.A4.01/04
4 PISTON NASCAR RESTYLING REAR

TYPICAL APPLICATION

Nascar rear

MOUNTING INFORMATION

Trailing Leading
RH XA3.A4.02 RH XA3.A4.04
LH XA3.A4.01 LH XA3.A4.03
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [cm?] 32.29 Mounting Offset [mm] 53.5
34 Pad Area [cm?] 38 Mounting Hole Dia. [nm] 10.25
Pad Thickness [mm] 20 Caliper Body 2 Pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 24 -25.4 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 120 Fluid Capacity 53.28
R AL
-
Nt
10.25 .
020 i
2
126.6
95.83 1
53.5
i?/ é\/ rﬁo'i 120
7‘?\2( ‘ Lq @t% r@w
! 6
| o= = e - fr
‘ ‘ . = 100
< mlo|a i | EIN ﬁ
¢ ‘ © IT
S ‘7" - TYPE "100" FAMILY
goisc] A B [ ¢ [ o g0ISC[ R [TH DISC] Weoiser | Hemnm | TH PAD
278 | 156.6]150.8] 140.0 93.5 MIN | 278 |tiee | a 45 | 425 | 20
33 [ e |ies. 3] 157.5] 111 M | 313 1355 | 254 | 45 | 425 |
XA3A40104




P/N X97.60.41/44
4 PISTON RALLY CALIPER

TYPICAL APPLICATION
Front gravel WRC

MOUNTING INFORMATION

Trailing Leading
RH X97.60.42 RH X97.60.44
LH X97.60.41 LH X97.60.43
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [cm?] 50.76 Mounting Offset [nm] 48
44 Pad Area [cm?] 62 Mounting Hole Dia. [mnm] 12.23
Pad Thickness [mm] 16 Caliper Body 2 Pieces
Pad Family "132" Caliper Material ~ Aluminium
Disc Thickness [mm] 25.4 - 28 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.38
Mounting Hole Center [mm] 180 Fluid Capacity 58.38
, 253.9
g20
N ) T
I I~ o
$12.23 -
gt |
118
93.5
66.8
& / 48
N
i —
82.5 a I ] 152
- N \ | I /
<o o|o|wlw 9.5 3 CC)) — Q)
N |
— - 1 —
l+ TYPE *132° FAMILY
goisc] A [ B[ c[oJEeTJTF BDISC| R |TH DISC| Weorses | Hmaos | TH PAD
300 [172.9]154.1]153.6] 100.3] 99.1 | 97 MIN | 300 [126.6 [ 25.4 | 52.5 | 49 16
313 |[178.7)160.4|159.3|106.6|105.4 [103.4 MAX 313 132.9 28 52.5 19 16




P/N XA0.80.51/54
4 PISTON RALLY CALIPER

TYPICAL APPLICATION
Front Super1600

MOUNTING INFORMATION

TECHNICAL SPECIFICATION

Trailing Leading
RH XA0.80.52 RH XA0.80.54
LH XA0.80.51 LH XA0.80.53

Piston Size [mm] 36 Piston Area [cm?] 48.06 Mounting Offset [mm] 42
42 Pad Area [cm?] 62 Mounting Hole Dia. [mnm] 12.23
Pad Thickness [mm] 16 Caliper Body Monobloc
Pad Family "132" Caliper Material ~ Aluminium
Disc Thickness [mm] 25.4 - 28 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 2.10
Mounting Hole Center [mm] 180 Fluid Capacity 55.27
o 920.35 214.3 .
g2
$12.23 . b
g14 m o
gae 8| |
114.2 =
2 65.5
58.2
% s 2 \ 180 |
/ 7 / 7 T ETJ T
- o
T Lo ] )
{)- ‘ L;JHJ N L T .i 1
i n f N B
= ‘ L _ I
19.2 5 : ?_r! : | 132
a|lo|jolo|w|w|o 91.2 gl Py 'll\"g
Sk e . — ]
¢ | s
TYPE *132* FAMILY
goisc] A [ B[ cloTJeE F e BD0ISC| R |THDISC| Veorees | Hemmos | TH PAD
295 [172.3]152.1[141.3]104.5] 97.1 | 96.6 [ 94.1 MIN | 295 1244 [ 254 [ a15 | a3 16
355 [198.9]179.5[169.6[134.5] 126.4[ 125 [123.4 max | 3s5 [153.7 | 28 | s2.5 | 49 16




P/N X2.029.71/74
4 PISTON TOURING REAR CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION

Touring car (Rear)

MOUNTING INFORMATION

Trailing Leading
RH X2.029.72 RH X2.029.74
LH X2.029.71 LH X2.029.73

Piston Size [mm] 24 Piston Area [cm?] 21.36 Mounting Offset [mm] 48.8
28 Pad Area [cm?] 38 Mounting Hole Dia. [mm] 10.23
Pad Thickness [mm] 20 Caliper Body 2 pieces
Pad Family "100" Caliper Material ~ Aluminium
Disc Thickness [mm] 16 Piston Insert -
Hydraulic Threads M10x1 Weight [Kg] 1.70
Mounting Hole Center [mm] 120 Fluid Capacity 35.24
®18
i B Bl
©10.23
-
19.8 10.2
116.9
1.7
92.9
48.8
120
N
_ 1 .
i 1 »
y ' ili ! « I I
| . r g I | A 100
1.6 % —— -t
< o|o(ofwlw a1.9 g}m | = =3
¢ | s =
l TYPE “100“ FAMILY
goisc] A [ B[ c]o EeTcF g0ISC] R [TH DISC] Veoias: | Hemnor | TH PAD
218 156 |[143.4|140.9|123.9( 93.7 | 92.7 2178 118.2 16 46 42.5 16




P/N XA2.29.11/14
4 PISTONS IRL

TECHNICAL SPECIFICATION

TYPICAL APPLICATION

IRL

MOUNTING INFORMATION

Trailing
RH XA2.29.12
LH XA2.29.11

Leading
RH XA2.29.14
LH XA2.29.13

Piston Size [mm] 36 Piston Area [cm?] 45.49 Mounting Offset [nm] 40
40 Pad Area [cm?] 38.2 Mounting Hole Dia. [nm] 10.26
Pad Thickness [mm] 20 Caliper Body Monobloc
Pad Family "90C-C" Caliper Material ~ Aluminium
Disc Thickness [mm] 23 Piston Insert  Aluminium
Hydraulic Threads M10x1 Weight [Kg] 1.50
Mounting Hole Center [mm] 110 Fluid Capacity 45.49
225.9
2o, >N
S ([
— .A-.—illr\\"
110
ﬂ(éih
S ™ M 90
< [aa] (&} (=] i L /-
TYPE *90 C-C* FAMILY
goIsc| A B C D E F @ DISC R TH DISC| Yeoises | Hemmos | TH PAD
325 181 | 162.1]159.3 | 118.8 | 116.6|110.9 325 140.3 23 45 45 20

XA2291114




P/N XA7.46.03/04
4 PISTONS CALIPER

TECHNICAL SPECIFICATION

TYPICAL APPLICATION

Nascar

MOUNTING INFORMATION
Trailing

RH
LH

Leading
RH XA7.46.04
LH XA7.46.03

Piston Size [mm] 26 Piston Area [cm?] Mounting Offset [nm] 42
30 Pad Area [cm?] Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 25 Caliper Body Monobloc
Pad Family "B12"-“B13” Caliper Material ~ Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 184 Fluid Capacity
258
?19
©
L]
¢‘10,23
p24
180,8 |
132
135 B
R6 D) @
X/ TYPE "B12" FAMILY
Ay
132
i @
< m| oo Y
TYPE "B13" FAMILY
9 DISC| A B 3 D g 01s¢] R [ra p1sc]worsc) [H (pany [TH PAD
318 |176,6(163,5( 105 [101,8 WIN 313 133 28 44 43,5 25
328 [183,1| 161 [112,5(109,3 HAX 328 |140,3 | 82 53,5 | 48,5 25
XA7460304




P/N XA7.46.13/14
4 PISTONS CALIPER

TYPICAL APPLICATION

Nascar

MOUNTING INFORMATION

Trailing Leading
RH RH XA7.46.14
LH LH XA7.46.13
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [cm?] Mounting Offset [nm] 42
34 Pad Area [cm?] Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 25 Caliper Body Monobloc
Pad Family "B12"-“B13” Caliper Material ~ Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 184 Fluid Capacity
258
»19
@% 0,23
B24
180,8 |
135

R6 tbﬂ
L
Y 039‘ T

TYPE "B13" FAMILY

0 DISC| A B ¢ D 6 DISC R [TH DISC| W(p1sc)|H (pap) [TH PAD
313 |176,6|153,6( 106 |101,8 WIN 313 133 28 44 43,5 25
328 |188,1| 161 [112,5|109,8 HAX 328 |[140,3 32 53,5 48,5 25

XAT4B1314




P/N XA7.46.23/24
4 PISTONS CALIPER

TYPICAL APPLICATION

Nascar

MOUNTING INFORMATION

Trailing Leading
RH RH XA7.46.24
LH LH XA7.46.23
TECHNICAL SPECIFICATION
Piston Size [mm] 32 Piston Area [cm?] Mounting Offset [nm] 42
36 Pad Area [cm?] Mounting Hole Dia. [nm] 10.23
Pad Thickness [mm] 25 Caliper Body Monobloc
Pad Family "B12"-“B13” Caliper Material ~ Aluminium
Disc Thickness [mm] 28 - 32 Piston Insert
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 184 Fluid Capacity
258
7?19
| @40,23
724
180,8 |
132
135 fﬂ
y T3

TYPE "B12" FAMILY

132

)

TYPE "B13" FAMILY

# DISC| A B ¢ D @ DISC R [TH DISC| W(p1sc)|H(pap) [TH PAD
313 [175,6[153,5| 105 |101,8 WIN 313 133 28 44 43,5 25
328 [183,1| 161 |112,5]109,8 WAX 328 | 140,3 82 53,5 | 48,5 25

XAT462324



P/N XA4.F1.01/02
6 PISTON CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

Trailing Leading
RH XA4.F1.02 RH XA4.F1.02
LH XA4.F1.01 LH XA4.F1.01
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cm?] 49.13 Mounting Offset [mm] 42
30 Pad Area [cm’] 78.5 Mounting Hole Dia. [mm] 12.23
38 Pad Thickness [mm] 29 Caliper Body Monobloc
Pad Family "164" Caliper Material ~Aluminium
Disc Thickness [mm] 32-35 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 3.10
Mounting Hole Center [mm] 210 Fluid Capacity 115.4

B %5
<@ oa
~— ‘ o
L | —— ~_/
| TYPE "164" FAMILY

9 DISC A B c D E F @ DISC R TH DISC| Wcorscy| Hcraoy [TH PAD
3556 |203.1(178.5(137.3( 124 [122.5(11¢9.2 WIN 355 162.5 32 52.5 52.5 29
380 [211.25 192 (149.8(136.5(183.3(180.5 WAX 380 164.5 35 52.5 52.5 29

XA4F10102



P/N XA4.F1.11/12
6 PISTON CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

Trailing Leading
RH XA4.F1.12 RH XA4.F1.12
LH XA4.F1.11 LH XA4.F1.11
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cm?] 49.13 Mounting Offset [mm] 42
30 Pad Area [cm?] 71 Mounting Hole Dia. [mm] 12.23
38 Pad Thickness [mm] 31.5 Caliper Body Monobloc
Pad Family "164C-C" Caliper Material ~Aluminium
Disc Thickness [mm] 37 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 3.10
Mounting Hole Center [mm] 210 Fluid Capacity 120.3

210
—~ I
= o} v
g I | 164
#ﬂ
q S—

: TYPE "164D C-C" FAMILY
g DISC| A B ¢ [} E F 0 DISC| R [TH DISC| Wcoreos| Hcran) | TH PAD
355 (203.1(178.5/137.3| 124 [122.5[119.2 WIN | 355 [152.5 [ 37 48 48 | 31.5
380 [211.25 192 |149.8]136.5/133.3[130.5 wax | 380 [164.5 [ 87 52.5 | 52.5 | 81.5

XAAFT1112




P/N XA4.F1.21/22
6 PISTON CALIPER

TECHNICAL SPECIFICATION

Piston Size [mm]

28
30
38

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

Trailing
RH XA4.F1.22
LH XA4.F1.21

Piston Area [cm”] 49.13
Pad Area [cm’] 78.5

Pad Thickness [mm] 29

Pad Family "164"

Disc Thickness [mm] 32-35
Hydraulic Threads M10x1
Mounting Hole Center [mm] 210

Leading
RH XA4.F1.22
LH XA4.F1.21

Mounting Offset [mm]

Mounting Hole Dia. [mm]

Caliper Body

Caliper Material

Piston Insert
Weight [Kg]

Fluid Capacity

42

12.23
Monobloc

Aluminium

Titanium

3.10

1154

TYPE "164D" FAMILY

0 DISC| A B [ D E F 6 DISC R TH D1sc] Woree)| H(rao, | TH PAD
356 |203.1)|178.5]137.3| 124 |122.5|1168.2 WIN 356 | 152.5 32 52.5 §2.5 29
380 [211.25 192 |149.8|136.5|133.3|180.5 HAX 380 |164.5 35 52.5 §2.5 29

XAAF12122




P/N XA4.F1.31/32
6 PISTON CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

Trailing Leading
RH XA4.F1.32 RH XA4.F1.32
LH XA4.F1.31 LH XA4.F1.31
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cm”] 49.13 Mounting Offset [mm] 42
30 Pad Area [cm?] 71 Mounting Hole Dia. [mnm] 12.23
38 Pad Thickness [mm] 31.5 Caliper Body Monobloc
Pad Family "164C-C" Caliper Material ~ Aluminium
Disc Thickness [mm] 37 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 3.10
Mounting Hole Center [mm] 210 Fluid Capacity 120.3

#21

38

_ 3
164
<ol of|au|u I e
(] [ #
S———

o ‘ TYPE "164D C-C' FAMILY
9 DISC| A B [3 D E F 0 0DI1SG| R |TH DISC[ Weorees| Hcrams | TH PAD
355 |203.1[178.5(187.3] 124 |122.5]119.2 WIN | 355 |152.5 | 37 48 48 | 31,5
380 [o11.25 192 |149.8]136.5[133.3[180.5 WAX | 380 |164.5 | 87 | 52.5 | 52.5 | 81,5

XAAF13132




P/N XA5.C2.01/02
6 PISTON CALIPER

TYPICAL APPLICATION
GT Narrow

MOUNTING INFORMATION

Trailing Leading
RH XA5.C2.02 RH XA5.C2.02
LH XA5.C2.01 LH XA5.C2.01
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cm?] 49.13 Mounting Offset [mm] 42
30 Pad Area [cm”] 78.5 Mounting Hole Dia. [mm] 10.23
38 Pad Thickness [mm] 25 Caliper Body Monobloc
Pad Family "164" Caliper Material ~Aluminium
Disc Thickness [mm] 25 - 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 210 Fluid Capacity 81.07
D22 151,5 145
<
#12,23
?28
123,8
115
90,2
B 42 164
i o o
Rs } ' j ‘ 3 Ig o ::17
¥® ‘ Tl o T ‘ TYPE_"164 D C-C" FAMILY
[ i LA;:_‘;, _— e - _ _ _
83,3 ) I‘\ ‘ 164
90,6 =
<) o o o u ¢ | - —— ’*
fffff 3%77 TYPE "164 D" FAMILY
6 DISC| A B ¢ D E B8 DISC R TH DISCf W(b1sc)| H(pap)| TH PAD
355 |198,5| 177 120 119 116 MIN 355 162,56 32 52,5 52,5 |22 (164D)
380 218 |[192,3|136,5|134,9(132,6 MAX 380 164,5 32 52,5 52,5 |25 (164D C-C)

XA5C20102



P/N XA5.E5.01/04
6 PISTON CALIPER

TECHNICAL SPECIFICATION

Piston Size [mm] 28
30
36

TYPICAL APPLICATION
GP2

MOUNTING INFORMATION

Trailing Leading
RH XA5.E5.02 RH XA5.E5.04
LH XA5.E5.01 LH XA5.E5.03

Piston Area [cm?] 46.80 Mounting Offset [mm]

Pad Area [cm?] 63 Mounting Hole Dia. [mm]

Pad Thickness [mm] 23 - 24 Caliper Body

Pad Family "155 C-C" Caliper Material

Disc Thickness [mm] 26 - 28 Piston Insert
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 152 Fluid Capacity

51.6
10.23
Monobloc

Aluminium

Titanium
1.85
77.23

1885

.

TYPE "1556" FAMILY

¢ DISC R |TH DISC| W(p1sc)

@ DISC| A B 4

H (pad)

TH PAD

HIN 278 117 26 44

278 156 [154,5| 140

139

44

28

HAX 278 117 28 44

44

24

XASE50104

57




P/N XA6.61.01/04
6 PISTON CALIPER

TYPICAL APPLICATION
GT

MOUNTING INFORMATION

Trailing Leading
RH XA6.61.02 RH XA6.61.04
LH XA6.61.01 LH XA6.61.03
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cm?] 49.13 Mounting Offset [mm] 42
30 Pad Area [cm?] 78,5 Mounting Hole Dia. [mm] 12,23
38 Pad Thickness [nm] 26,5 Caliper Body Monobloc
Pad Family “B24” Caliper Material ~Aluminium
Disc Thickness [mm] 32-35 Piston Insert  Steel
Hydraulic Threads M10x1 Weight [Kg] 2,98
Mounting Hole Center [mm] 210 Fluid Capacity 102
@21
N 1
#1223 DY :-
?26,5 ) W
= o

131,6
96
42
L E— !
‘ e
| ==
.| 83,5 :
| |
<l m| o o | ‘108,39
. | ‘
¢ | |
) ) - TYPE "B24" FAMILY
¢ DISC A B 4 D ? DISC R TH DISC| W(n1sc)| H(pap) [TH PAD
355 |199,5[176,9( 124 [120,1 WIN 355 |[152,5 | 32 52,5 | 52,5 25
380 | 212 |189,4[136,5[132,6 wax | 380 [164,5 | 35 52,5 | 52,5 | 26,5

- XA6610104 -



P/N XA6.61.21/24
6 PISTON CALIPER

TECHNICAL SPECIFICATION

Piston Size [mm]

28

30
38

TYPICAL APPLICATION

GT

MOUNTING INFORMATION

Trailing
RH XA6.61.22
LH XA6.61.21

Piston Area [cm?] 49.13
Pad Area [cm’] 78,5
Pad Thickness [nm] 26,5
Pad Family “B24”
Disc Thickness [mm] 32-35
Hydraulic Threads M10x1

Mounting Hole Center [mm] 210

Leading
RH XA6.61.24
LH XA6.61.23

Mounting Offset [mm]
Mounting Hole Dia. [mm]
Caliper Body

Caliper Material

Piston Insert

Weight [Kg]

Fluid Capacity

42

12,23
Monobloc
Aluminium
Steel

2,98

102

® DISC

355

199,5

189,8

380

212

202,38

TYPE "B24" FAMILY

0 DISC R |TH DISC| W(nisc)

H (pap) [ TH PAD

HIN

366 |162,5 32 52,5

52,5 25

HAX

380 |164,5 35 52,5

52,5 | 26,5

XAB612124




P/N XA6.H7.01/02
6 PISTON CALIPER

TYPICAL APPLICATION
Grand AM

MOUNTING INFORMATION

Trailing Leading
RH XA6.H7.02 RH XA6.H7.02
LH XA6.H7.01 LH XA6.H7.01
TECHNICAL SPECIFICATION
Piston Size [mm] 28 Piston Area [cm”] 49.13 Mounting Offset [mm] 42
30 Pad Area [cm’] 78.5 Mounting Hole Dia. [mnm] 12.23
38 Pad Thickness [mm] 22 Caliper Body Monobloc
Pad Family "164" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Steel
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 210 Fluid Capacity 81.07
161,56 145
P22
f
in
712,23
#28
123,8
115
90,2
42
|
]
95 ! ‘ J ‘ | L
s ‘ ‘T:;T T I
” i i S I \‘ I
1 I L;,T,u;, —_— — T —_—- -
83,3 . I‘\ ‘ ‘ T 164
90,6 :
< @ o o u ¢ | - = =
 — :\Fif TYPE "164 D" FAMILY
6 DISC A B G D E @ DISC R TH DISC| Wpisc)| H(pap) [TH PAD
355 |198,5| 177 120 119 116 WIN 355 152,5 32 52,5 52,5 22
380 | 218 [192,8(136,5(134,9/132,6 HAX 380 |164,5 | 32 52,5 | 52,5 22
XABHTO102




P/N XA3.02.11/12
6 PISTON CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

Trailing Leading
RH XA3.02.12 RH XA3.02.12
LH XA3.02.11 LH XA3.02.11
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [cm?] 55.35 Mounting Offset [mm] 42
32 Pad Area [cm?] 71 Mounting Hole Dia. [mnm] 12.23
40 Pad Thickness [nm] 31.5 Caliper Body Monobloc
Pad Family "164C-C" Caliper Material ~ Aluminium
Disc Thickness [mm] 37 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.90
Mounting Hole Center [mm] 210 Fluid Capacity 135.6
g2 |
@12.23
| |
| ! ?
s N &
|
A ‘ 3
82 ‘
i i )
o o
140.1 ¢ |
86.5 ¥
12
210 |
%‘; TN
LA 3
?
[
T 164
< OO O0|w|u r
& L) d
o/ =
~—— -
TYPE “164D C-C" FAMILY
@ DISC A B C D E F @ DISC R TH DISC| Veoises | Hemaos | TH PAD
355 |203.1]178.5[132.3] 124 [122.5]119.2 MIN | 355 [152.5 | 31 48 8 | 31.5
380 [211.25) 192 |149.8|136.5|133.3[130.5 MAX 380 164.5 317 53 53 31.5
XA3021112A




P/N XA3.02.21/22
6 PISTON CALIPER

TYPICAL APPLICATION

Grand Touring

MOUNTING INFORMATION

Trailing Leading
RH XA3.02.22 RH XA3.02.22
LH XA3.02.21 LH XA3.02.21
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [cmz] 55.35 Mounting Offset [nm] 42
32 Pad Area [cm’] 78.5 Mounting Hole Dia. [mnm] 12.23
40 Pad Thickness [mm] 29 Caliper Body Monobloc
Pad Family "164D" Caliper Material ~ Aluminium
Disc Thickness [nm] 32 -35 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.90
Mounting Hole Center [mm] 210 Fluid Capacity 130.0
g2 \
@12.23
! ] |

38

“P*= 63.5

"

YPE *164D" FAMILY

@DISC| A B c D E F @ DISC R TH DISC| Vioiees | Heeaos | TH PAD
355 |203.1|178.5|137.3| 124 |122.5]119.2 MIN 355 | 152.5 32 52.5 52.5 29
380 ([211.25( 192 [149.8|136.5(133.3|130.5 MAX 380 [ 164.5 35 52.5 52.5 29

XA3022122A




P/N XA3.02.31/32
6 PISTON CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

Trailing Leading
RH XA3.02.32 RH XA3.02.32
LH XA3.02.31 LH XA3.02.31
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [cm?] 55.35 Mounting Offset [mm] 42
32 Pad Area [cm’] 78.5 Mounting Hole Dia. [mnm] 12.23
40 Pad Thickness [mm] 29 Caliper Body Monobloc
Pad Family "164" Caliper Material ~ Aluminium
Disc Thickness [mm] 32-35 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.90
Mounting Hole Center [mm] 210 Fluid Capacity 130.0

"P'=§3,5

B DISC| A B < D E F B DISC R |TH DISE| Wioxwos| Hewans [TH PAD
366 |208.1(170.5|137.3| 124 |122.58|118.2 UIN 356 | 162.5 32 52.6 | §2.5 28
340 211.25 192 |149.8 |186.5(185.3 (1305 HAX 380 | 184.5 35 52.% | 52.% 2§

TRI023132




P/N XA3.02.41/42
6 PISTON CALIPER

TYPICAL APPLICATION
Grand Touring

MOUNTING INFORMATION

Trailing Leading
RH XA3.02.42 RH XA3.02.42
LH XA3.02.41 LH XA3.02.41
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [cm?] 55.35 Mounting Offset [mm] 42
32 Pad Area [cm?] 71 Mounting Hole Dia. [mnm] 12.23
40 Pad Thickness [mm] 31.5 Caliper Body Monobloc
Pad Family "164C-C" Caliper Material ~ Aluminium
Disc Thickness [mm] 37 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.90
Mounting Hole Center [mm] 210 Fluid Capacity 135.6
@21
ﬂ—lﬁj
RO
B
il
12,28 o !
Jlee g |
= el { ‘ '
= #D18C
| 210 |
- 17 [y T
3 | = | 184 |
< | m ==’=_
1 :[I:.:IZ r =£
Lﬂ — TYPE "184¢-C' FAMILY
B DISC| A B ¢ b E F B DISC R TH DISC| Wioxwos| Hewans [TH PAD
366 |208.1|178.5|137.3| 124 [122.5(115.2 UIN 556 | 182.5 37 48 48 31.5
530 211,25 192 (149.8|186.5|1538.83|130.5 [LV.4 380 184.5 37 52.% | §52.5 31.5

TRI024142




P/N XA6.L4.03/04
6 PISTON CALIPER

TYPICAL APPLICATION
Nascar

MOUNTING INFORMATION

Trailing Leading
RH XA6.L4.04 RH
LH XA6.L4.03 LH
TECHNICAL SPECIFICATION
Piston Size [mm] 32 Piston Area [cm] Mounting Offset [mm] 43,5
34 Pad Area[cm?] 89 -95 Mounting Hole Dia. [mm] 12,23
42 Pad Thickness [mm] 30 Caliper Body Monobloc
Pad Family “B21”-“B23” Caliper Material ~Aluminium
Disc Thickness [mm] 35 - 40 Piston Insert
Hydraulic Threads M10x1 Weight [Kg] 3,45
Mounting Hole Center [mm] 210 Fluid Capacity 152,1

295,6
7?34 #32

164

R7,5 ‘Fi ' TV \si
j= =
‘ \
‘ w oI ‘ ‘ ’ = TYPE "B23" FAMILY
s 1 M = TN
==
) N ) ‘ ‘
TYPE "B21" FAMILY
4 DISC R ITH DISC{ W(p1sc)|H(pap) |TH PAD

g DISC| A B ¢ D E WIN | 328 | 138 35 64 62 30
328 (183,1(165,9]119,6/104,9] 99,9 wAX | 328 | 136 40 64 62 30

XABLAD304 .



P/N XA3.40.91/94
6 PISTON CALIPER

TYPICAL APPLICATION
Rally Raid

MOUNTING INFORMATION

Trailing Leading
RH XA3.40.92 RH XA3.40.94
LH XA3.40.91 LH XA3.40.93
TECHNICAL SPECIFICATION
Piston Size [mm] 30 Piston Area [cm?] 55.35 Mounting Offset [mm] 41.5
32 Pad Area [cm?] 77 Mounting Hole Dia. [mm] 12.23
40 Pad Thickness [mm] 18 Caliper Body Monobloc
Pad Family "164A" Caliper Material ~ Aluminium
Disc Thickness [mm] 28 Piston Insert  Steel
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 200 Fluid Capacity 99.64

25 | ¢
@ ‘
 —  —
7 N U &
R14 Y ‘ fffffffff
) (R — o
——— | E—— ! ]
- m oo
EL i S 164
<| o O O|lw|w|g ' k
c I z
[ |
==
TYPE "164B" FAMILY
6 DISC| A B ¢ 0 E F ] o o1sc| R [rh orsc]Wooise)| Hiean) [TH PaD
320 |181,3[176,5|162,7|118,6|107,5(106,6(102,6 HIN 320 (138,75 28 52,5 50 18
328 |185,3]180,5(166,7]|122,6[111,5/110,6(106,6 wax | 328 (137,75 28 52,5 | 50 18

XA8409194




P/N X93.41.21/24
8 PISTON CALIPER

TYPICAL APPLICATION
WRC & Touring Car

MOUNTING INFORMATION

Trailing Leading
RH X93.41.22 RH X93.41.24
LH X93.41.21 LH X93.41.23
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [cm?] 53.40 Mounting Offset [nm] 48
32 Pad Area [cm’] 31.6 Mounting Hole Dia. [mnm] 12.23
26 Pad Thickness [mm] 20 Caliper Body 2 Pieces
32 Pad Family "80" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.98
Mounting Hole Center [mm] 180 Fluid Capacity 82.78
$20.1
T “
g12.23 .
g2 5
126.5 =i
9
18
| 180
£
S
I | I a0
U /FIDKJ I TYPE "B0® FAMILY
goisc] A [ B[ c[oJEeTJTF BDISC| R |TH DISC| Weorses | Hmaos | TH PAD
355 |198.5] 179 [174.5]130.8]130.3]127.5 MIN | 355 1565 [ 32 | 415 | s 20
380 | 211 [191.5] 187 [143.3]142.8] 140 max | 380 [167.6 | 32 | a1.5 | a5 20

67



P/N XA5.D6.01/04
8 PISTON CALIPER

TYPICAL APPLICATION
Rally

MOUNTING INFORMATION

Trailing Leading
RH XA5.D6.02 RH XA5.D6.04
LH XA5.D6.01 LH XA5.D6.03
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [cm?] 53.40 Mounting Offset [nm] 45
32 Pad Area [cm?] 34.1 Mounting Hole Dia. [mm] 12.23
26 Pad Thickness [nm] 17.5 Caliper Body Monobloc
32 Pad Family "80-H51" Caliper Material ~Aluminium
Disc Thickness [mm] 30 - 32 Piston Insert  Titanium
Hydraulic Threads  M10x1 Weight [Kg] 2.52
Mounting Hole Center [mm] 180 Fluid Capacity 96.13
- ?20,1
e
©| <
' 712,23
[ 1914 -
D24 =
119,7 =,
117,3 =
108,3
86,1
58,5
6/ 45 180
\ &
] By
\
5) 8 ‘ ‘ * o) | ZA
R L @ A
+ © N
' 7
‘ —-— — 80
78,7 ‘L X { I
</ o o o|w W 4 O ‘ - i |
717Q, TYPE "80A" FAMILY
6 DISG| A B ¢ D E F ‘ [t @ DISC R TH DISC] W(p1sc)| H(pan) |TH PAD
355 200 |183,8| 177 |168,7|1562,6( 124 |122,8 WIN 3565 165 30 52,5 51 17,5
370 |(207,5(191,8|184,5|176,2|160,1[181,5(130,8 HAX 370 |[162,4 | 32 52,5 51 17,5
XA5D60104




P/N X99.D0.01/04
8 PISTON RALLY (LIGHT) CALIPER

TYPICAL APPLICATION

Front tarmac caliper WRC

MOUNTING INFORMATION

Trailing Leading
RH X99.D0.02 RH X99.D0.04
LH X99.D0.01 LH X99.D0.03

TECHNICAL SPECIFICATION

Piston Size [mm] 26 Piston Area [cm?] 53.40 Mounting Offset [nm] 48
32 Pad Area [cm’] 33.3 Mounting Hole Dia. [mnm] 12.23
26 Pad Thickness [nm] 17.5 Caliper Body Monobloc
32 Pad Family "80" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.40
Mounting Hole Center [mm] 180 Fluid Capacity 69.42
©20.1 3N |
032
026
Shic) S o
b %@\ ,;__L- s E:_
| 01223 ' i
26 a ‘
8‘ |
19.2 ap ‘
116.5 b
100.5 !
. M 180
T ’ 1
Ll =
\. I i‘!‘ \! \
‘ T = = 80
i L
‘ :nl' - I 1 [l - [+) ©
«|o|o|o|w | ﬁ : -
oy i i /
¢ | f
N TYPE "80" FAMILY
goisc] A [ B[ cloTJeE BDISC| R |TH DISC| Weorses | Hmaos | TH PAD
355 | 201 [180.3]178.1]173.4]124.6 MmN | 355 | 155 [ 32 [ 525 51 | 115
370 |207.5] 187 |185.6[180.9]131.5 max_ | 310 1624 [ 32 [ 525 | 51 | 115




P/N X99.D0.11/14
8 PISTON RALLY (LIGHT) CALIPER
TYPICAL APPLICATION
Front tarmac caliper WRC
MOUNTING INFORMATION
Trailing Leading
RH X99.D0.12 RH X99.D0.14
LH X99.D0.11 LH X99.D0.13
TECHNICAL SPECIFICATION
Piston Size [mm] 26 Piston Area [cm”]  53.40 Mounting Offset [mm] 42
32 Pad Area [cm?’] 33.3 Mounting Hole Dia. [mm] 12.23
26 Pad Thickness [nm] 17.5 Caliper Body Monobloc
32 Pad Family "80" Caliper Material ~ Aluminium
Disc Thickness [mm] 32 Piston Insert  Titanium
Hydraulic Threads M10x1 Weight [Kg] 2.41
Mounting Hole Center [mm] 180 Fluid Capacity 69.42
20. 1 3 |
2 e
o~ - \\ w
~ I 4 4\ s WA B
o N ¥ > E:I.
gizas | Y ‘ 3
@14 . 3
g2 5 ‘
113.5 oV
97.5 h ¢ | ¢
55.4
o 15
J 180
I
e alil
Ll
| + . =
‘ L N N 80
| - N {1 -
| o|lo|lo|w } glw lll |Il g / -
Q|
¢ | !
N TYPE "80* FAMILY
@ DISC A B C D' E @ DISC R TH DISC| Vioises | Hemaos | TH PAD
355 201 [180.3(178.1[173.4([124.6 MIN 355 155 32 52.5 51 17.5
370 |[207.5| 187 |185.6|180.9|131.5 MAX 370 162.4 32 52.5 51 11.5




P/N 22.5882.11/21
HANDBRAKE CALIPER

TYPICAL APPLICATION

MOUNTING INFORMATION

Trailing Leading
RH 22.5882.12 RH 22.5882.12
LH 22.5882.11 LH 22.5882.11
TECHNICAL SPECIFICATION
Piston Size [mm] 36 Piston Area [cm?] 20.35 Mounting Offset [mm]
Pad Area [cm?] 26 Mounting Hole Dia. [mm]
Pad Thickness [mm] 10 Caliper Body
Pad Family Caliper Material
Disc Thickness [mm] 26 - 32 Piston Insert
Hydraulic Threads M10x1 Weight [Kg]
Mounting Hole Center [mm] 92 Fluid Capacity 20.35

156,1
736
J(@::; ‘i\ Y
2y \\\
X S WA BN |
S - 7
< g -
! N VAN
46 ‘\/\ \\ :n.
) 92 ) \\A \
| g | N // \
o |
@ I / \
- — #DLISC
E-F | ! Ll
76,5 110 ‘ J(if g2 — ‘ —
) 70 -
R6,5 _ 31,5 Q|18 67
S5 ;
=== Se =
i ESS p— -
L | TINE
N : _ ‘
‘ t- 7L,,7”J © i ot
w | RS ==
i B
| 3 < It [e
Il Ll «@ i 1
<|e|o I ULE 88
0w 57,5 ‘ 3‘“‘ Jf’ -\75‘(
r~ 7 = & s ©)
‘ 8 A E‘? I 1 ﬂ
O ?8,25
N\ TH DISC| A #13 =
- _— 26 | 28,5 -
0 DISC| A B ¢ ] E 28 29,5 # DISC R |TH DISC| W(p1sc)|H (pap) [TH PAD
335 [196,5| 191 [159,5(/128,5| 125 30 | 30,5 WIN | 335 | 146 26 40 | 38,5 | 9,75
355 |206,5( 201 [169,5(138,4| 135 32 | 31,5 waX | 355 | 156 32 40 | 38,5 | 9,75

2258821121







CAST IRON DISCS




P/N  08.4695.43

TECHNICAL SPECIFICATION
Diameter [mm]
Thickness [mm]
Annulus [mm]
Air Gap [mm]
Weight [Kg]
Ventilation
Offset [mm]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]

Flange Thickness [mm]

P/N X95.50.60

TECHNICAL SPECIFICATION
Diameter [mm]
Thickness [mm]
Annulus [mm]
Air Gap [mm]
Weight [Kg]
Ventilation
Offset [mm]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]

Flange Thickness [mm]

278
6.4

45.5

1.8
pieno

3.2

172.5
187

154

278
6.5

45.5

1.7
pieno

25

172.5
187

154

P @ 278

- @ 187

@ 154063
154,000




P/N 09.8386.16

TECHNICAL SPECIFICATION
Diameter [mm] 278
Thickness [mm] 16
Annulus [mm] 40.25
Air Gap [mm] 6.5
Weight [Kg] 2.45
Ventilation pioli
Offset [mm] 8.5
Number of Fixings 8
Mounting Hole Center [mm] 186
Inside Diameter [nm] 197.5
Flange Inside Diameter [nm] 166

Flange Thickness [mm] 4.5

P/N 09.8386.15

TECHNICAL SPECIFICATION
Diameter [mm] 278
Thickness [mm] 16
Annulus [mm] 45.25
Air Gap [mm] 6.5
Weight [Kg] 2.7
Ventilation pioli
Offset [mm] 8.5
Number of Fixings 8
Mounting Hole Center [mm] 176
Inside Diameter [nm] 187.5
Flange Inside Diameter [mm] 156

Flange Thickness [mm] 4.5




P/N 09.5210.17

TECHNICAL SPECIFICATION

Diameter [mm] 278

Thickness [mm] 16
Annulus [mm] 45.5

Air Gap [mm] 6.5

Weight [Kg] 2.5
Ventilation pioli

Offset [mm] 8.5

Number of Fixings 8

Mounting Hole Center [mm] 176
Inside Diameter [nm] 187
Flange Inside Diameter [nm] 156

Flange Thickness [mm] 4.5

P/N 09.5890.10/20

TECHNICAL SPECIFICATION
Diameter [nm] 280
Thickness [mm] 25.4
Annulus [mm] 44.75
Air Gap [mm] 14
Weight [Kg] 3.3
Ventilation 48 vanes
Offset [mm] 13
Number of Fixings 8
Mounting Hole Center [mm] 176
Inside Diameter [mm] 190.5
Flange Inside Diameter [mm] 155

Flange Thickness [mm] 6




P/N 09.5890.30/40

TECHNICAL SPECIFICATION
Diameter [nm] 280
Thickness [mm] 25.4
Annulus [mm] 45
Air Gap [mm] 14
Weight [Kg] 3.55
Ventilation 48 vanes
Offset [mm] 12.7
Number of Fixings 8
Mounting Hole Center [mm] 176.8

Inside Diameter [mm] 190
Flange Inside Diameter [mm] 151

Flange Thickness [mm] 5

P/N 09.5890.31/41

TECHNICAL SPECIFICATION

Diameter [nm] 280

Thickness [mm] 28

Annulus [mm] 45

Air Gap [mm] 14

Weight [Kg] 3.9

Ventilation 48 vanes
Offset [mm] 12.7
Number of Fixings 8
Mounting Hole Center [mm] 176.8

Inside Diameter [mm] 190
Flange Inside Diameter [mm] 151

Flange Thickness [mm] 5




P/N 09.7277.12/22

TECHNICAL SPECIFICATION

Diameter [nm] 295
Thickness [mm] 25.4
Annulus [mm] 45.5

Air Gap [mm] 14

Weight [Kg] 3.9

Ventilation 48 vanes
Offset [mm] 12.7
Number of Fixings 8

Mounting Hole Center [mm] 190
Inside Diameter [nm] 204
Flange Inside Diameter [nm] 166

Flange Thickness [mm] 6

P/N 09.7277.10/20

TECHNICAL SPECIFICATION

Diameter [mm] 295

Thickness [nm] 28
Annulus [mm] 52.5

Air Gap [mm] 14

Weight [Kg] 5.1

Ventilation 48 vanes
Offset [mm] 12.7
Number of Fixings 8

Mounting Hole Center [mm] 176
Inside Diameter [mm] 190
Flange Inside Diameter [mm] 154

Flange Thickness [mm] 6




P/N 09.7277.13/23

TECHNICAL SPECIFICATION

Diameter [mm] 300
Thickness [mm] 25.4
Annulus [mm] 52.5

Air Gap [mm] 14

Weight [Kg] 4.5

Ventilation 48 vanes
Offset [mm] 12.7
Number of Fixings 8

Mounting Hole Center [mm] 181
Inside Diameter [mm] 195
Flange Inside Diameter [mm] 160

Flange Thickness [mm] 6

P/N 09.9021.10/20

TECHNICAL SPECIFICATION

Diameter [mm] 300

Thickness [mm] 28
Annulus [mm] 52.5

Air Gap [mm] 16

Weight [Kg] 5.1

Ventilation 60 vanes
Offset [mm] 12.7
Number of Fixings 8

Mounting Hole Center [mm] 181
Inside Diameter [mm] 195
Flange Inside Diameter [mm] 160

Flange Thickness [mm] 6




P/N 09.8647.12/22

TECHNICAL SPECIFICATION
Diameter [mm] 300
Thickness [mm] 30
Annulus [mm] 52.5
Air Gap [mm] 16
Weight [Kg] 5.6
Ventilation 48 vanes
Offset [mm] 12,8
Number of Fixings 8
Mounting Hole Center [mm] 181
Inside Diameter [mm] 195
Flange Inside Diameter [mm] 160

Flange Thickness [mm] 6

P/N XAS3.33.10/11

TECHNICAL SPECIFICATION
Diameter [mm] 304
Thickness [nm] 32
Annulus [mm] 56.1
Air Gap [mm] 16
Weight [Kg] ~6.4
Ventilation 48 vanes
Offset [mm] 13.3
Number of Fixings 12
Mounting Hole Center [mm]
Inside Diameter [mm] 191.8
Flange Inside Diameter [mm] 161.2

Flange Thickness [mm] 4.75




P/N 09.5192.15

TECHNICAL SPECIFICATION
Diameter [mm]
Thickness [mm]
Annulus [mm]
Air Gap [mm]
Weight [Kg]
Ventilation
Offset [mm]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]

Flange Thickness [mm]

P/N 09.7277.36/46

TECHNICAL SPECIFICATION
Diameter [mm]
Thickness [mm]
Annulus [mm]
Air Gap [mm]
Weight [Kg]
Ventilation
Offset [mm]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]

Flange Thickness [mm]

305
28
51.5
15
4.8
pioli

14

190
202

174

313

254

44

14

4.26

48 vanes
13.9

8

210

225

187

15 40,05 (X8}

b L2238 4,
& .
M 187 *:%7
w6 o
ol ™|
1 ‘-_i_ | — - o —
HO0( 100

R !

K. ﬂ“
¥R

R
_ 10,25 20,08

B
a
a
+
w

26,6 20,1




P/N 09.9221.55/65

TECHNICAL SPECIFICATION
Diameter [mm] 313
Thickness [mm] 25.4
Annulus [mm] 44.5
Air Gap [mm] 14

Weight [Kg]
Ventilation pioli
Offset [mm] 12.4

Number of Fixings 8

Mounting Hole Center [mm] 210
Inside Diameter [nm] 224
Flange Inside Diameter [mm] 194

Flange Thickness [mm] 4.5

P/N X9.066.08

TECHNICAL SPECIFICATION

Diameter [mm] 313
Thickness [mm] 25.4

Annulus [mm] 52

Air Gap [mm] 14
Weight [Kg] ~ 4.
Ventilation pioli
Offset [mm] 12.2

Number of Fixings 8

Mounting Hole Center [mm] 197
Inside Diameter [mm] 209
Flange Inside Diameter [mm] 182

Flange Thickness [mm] 6




P/N 09.9222.71/81

TECHNICAL SPECIFICATION

Diameter [nm] 313

Thickness [mm] 32

Annulus [mm] 44
Air Gap [mm] 19.8

Weight [Kg]
Ventilation 48 vanes

Offset [mm] 16.5

Number of Fixings 10
Mounting Hole Center [mm] 210
Inside Diameter [nm] 225
Flange Inside Diameter [mm] 190

Flange Thickness [mm] 6

P/N 09.5682.50/60

TECHNICAL SPECIFICATION

Diameter [nm] 320

Thickness [mm] 28
Annulus [mm] 52.5
Air Gap [mm] 16.5

Weight [Kg] 5.2

Ventilation 48 vanes
Offset [mm] 15.5
Number of Fixings 8

Mounting Hole Center [mm] 200
Inside Diameter [mm] 215
Flange Inside Diameter [mm] 182

Flange Thickness [mm] 6




P/N XA6.D7.01/02

TECHNICAL SPECIFICATION

Diameter [nm] 320

Thickness [nm] 28
Annulus [mm] 52.5
Air Gap [mm] 16.5
Weight [Kg] 5.15

Ventilation 48 vanes
Offset [mm] 15.5
Number of Fixings 12

Mounting Hole Center [mm] 201
Inside Diameter [mm] 215
Flange Inside Diameter [mm] 189

Flange Thickness [mm] 6

P/N 09.9226.12/22

TECHNICAL SPECIFICATION

Diameter [mm] 324

Thickness [mm] 28

Annulus [mm] 54
Air Gap [mm] 16.5
Weight [Kg] 5.24

Ventilation 48 vanes

Offset [mm] 15

Number of Fixings 10
Mounting Hole Center [mm] 202
Inside Diameter [nm] 216
Flange Inside Diameter [nm] 178

Flange Thickness [mm] 6




P/N 09.5682.51/61

TECHNICAL SPECIFICATION

Diameter [mm] 328

Thickness [mm] 27
Annulus [mm] 47.5
Air Gap [mm] 16.5

Weight [Kg] 4.5

Ventilation 48 vanes

Offset [mm] 15

Number of Fixings 10
Mounting Hole Center [mm] 218
Inside Diameter [nm] 233
Flange Inside Diameter [nm] 196

Flange Thickness [mm] 6

P/N 09.5682.56/66

TECHNICAL SPECIFICATION

Diameter [mm] 328

Thickness [mm] 27
Annulus [mm] 47.5
Air Gap [mm] 16.5

Weight [Kg] 4.7

Ventilation 48 vanes

Offset [mm] 15

Number of Fixings 10
Mounting Hole Center [mm] 218
Inside Diameter [mm] 233
Flange Inside Diameter [nm] 196

Flange Thickness [mm] 6




P/N 09.9226.10/20

TECHNICAL SPECIFICATION

Diameter [mm] 328

Thickness [nm] 28

Annulus [mm] 54
Air Gap [mm] 16.5

Weight [Kg] 5.3

Ventilation 48 vanes

Offset [mm] 15

Number of Fixings 10
Mounting Hole Center [mm] 206
Inside Diameter [mm] 220
Flange Inside Diameter [mm] 184

Flange Thickness [mm] 6

P/N 09.9228.18/28

TECHNICAL SPECIFICATION

Diameter [mm] 328

Thickness [nm] 28

Annulus [mm] 54
Air Gap [mm] 16.5

Weight [Kg]
Ventilation 72 vanes

Offset [mm] 15

Number of Fixings 10
Mounting Hole Center [mm] 206
Inside Diameter [mm] 220
Flange Inside Diameter [mnm] 184

Flange Thickness [mm] 6




P/N 09.9228.16/26

TECHNICAL SPECIFICATION

Diameter [mm] 328

Thickness [mm] 29

Annulus [mm] 54
Air Gap [mm] 16.5

Weight [Kg]
Ventilation 72 vanes

Offset [mm] 15

Number of Fixings 10
Mounting Hole Center [mm] 206
Inside Diameter [mm] 220
Flange Inside Diameter [nm] 184

Flange Thickness [mm] 6

P/N 09.9228.17/27

TECHNICAL SPECIFICATION

Diameter [mm] 328

Thickness [mm] 30

Annulus [mm] 54
Air Gap [mm] 16.5

Weight [Kg]
Ventilation 72 vanes

Offset [mm] 15

Number of Fixings 10
Mounting Hole Center [mm] 206
Inside Diameter [mm] 220
Flange Inside Diameter [mm] 184

Flange Thickness [mm] 6




P/N 09.5682.54/64

TECHNICAL SPECIFICATION

Diameter [mm] 328

Thickness [mm] 30

Annulus [mm] 54
Air Gap [mm] 16,5
Weight [Kg] 6,18

Ventilation 48 vanes

Offset [mm] 18

Number of Fixings 10
Mounting Hole Center [mm] 206
Inside Diameter [mm] 220
Flange Inside Diameter [mm] 184

Flange Thickness [mm] 8

P/N 09.9226.39/49

TECHNICAL SPECIFICATION

Diameter [mm] 328

Thickness [mm] 32

Annulus [mm] 54
Air Gap [mm] 16.5

Weight [Kg]
Ventilation 48 vanes

Offset [mm] 17

Number of Fixings 10
Mounting Hole Center [mm] 206
Inside Diameter [mm] 220
Flange Inside Diameter [nm] 184

Flange Thickness [mm] 8




P/N 09.9227.12/22

TECHNICAL SPECIFICATION

Diameter [mm] 328

Thickness [mm] 32

Annulus [mm] 64
Air Gap [mm] 16.5

Weight [Kg]
Ventilation 48 vanes

Offset [mm] 17.5

Number of Fixings 12
Mounting Hole Center [mm] 184
Inside Diameter [mm] 200
Flange Inside Diameter [mm] 161

Flange Thickness [mm] 8

P/N 09.5682.53/63

TECHNICAL SPECIFICATION

Diameter [mm] 328

Thickness [nm] 32

Annulus [mm] 54
Air Gap [mm] 16,5

Weight [Kg] 6,5

Ventilation 48 vanes

Offset [mm] 17

Number of Fixings 10
Mounting Hole Center [mm] 206
Inside Diameter [mm] 220
Flange Inside Diameter [nm] 184

Flange Thickness [mm] 8




P/N 09.9227.10/20

TECHNICAL SPECIFICATION

Diameter [mm] 328

Thickness [mm] 35

Annulus [mm] 64
Air Gap [mm] 16.5

Weight [Kg]
Ventilation 48 vanes

Offset [mm] 17.5

Number of Fixings 12
Mounting Hole Center [mm] 184
Inside Diameter [mm] 200
Flange Inside Diameter [mm] 161

Flange Thickness [mm] 8

P/N 09.9229.10/20

TECHNICAL SPECIFICATION
Diameter [mm] 328
Thickness [mm] 35
Annulus [mm] 64
Air Gap [mm] 19
Weight [Kg] 8.3
Ventilation 72 vanes
Offset [mm] 17.5
Number of Fixings 12
Mounting Hole Center [mm] 184
Inside Diameter [nm] 200
Flange Inside Diameter [mm] 161

Flange Thickness [mm] 8




P/N 09.A003.10/20

TECHNICAL SPECIFICATION
Diameter [mm]
Thickness [mm]
Annulus [mm]
Air Gap [mm]
Weight [Kg]
Ventilation
Offset [mm]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]

Flange Thickness [mm]

P/N 09.8667.50/60

TECHNICAL SPECIFICATION
Diameter [mm]
Thickness [mm]
Annulus [mm]
Air Gap [mm]
Weight [Kg]
Ventilation
Offset [mm]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]

Flange Thickness [mm]

72 vanes

20

12

184

200

161

330

28

63

16.5

7.5

48 vanes

17

10

188

204

166

40 20,1

22
H 8 0,05

198

N=f
=
=
0




P/N 09.8666.53/63

TECHNICAL SPECIFICATION

Diameter [nm] 332

Thickness [mm] 32
Annulus [mm] 53.5
Air Gap [mm] 16.5

Weight [Kg] 6.9

Ventilation 48 vanes

Offset [mm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 210
Inside Diameter [nm] 225
Flange Inside Diameter [mm] 190

Flange Thickness [mm] 8

P/N 09.8666.70/80

TECHNICAL SPECIFICATION

Diameter [nm] 332

Thickness [nm] 32
Annulus [mm] 53.5
Air Gap [mm] 16.5

Weight [Kg] 6.5

Ventilation 48 vanes

Offset [mm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 210
Inside Diameter [mm] 225
Flange Inside Diameter [mm] 190

Flange Thickness [mm] 8




P/N 09.5759.36/46

TECHNICAL SPECIFICATION

Diameter [nm] 345

Thickness [nm] 28
Annulus [mm] 47.5

Air Gap [mm] 17

Weight [Kg]
Ventilation 48 vanes

Offset [mm] 15.5

Number of Fixings 10
Mounting Hole Center [mm] 233
Inside Diameter [mm] 250
Flange Inside Diameter [mm] 209

Flange Thickness [mm] 6

P/N 09.5683.50/60

TECHNICAL SPECIFICATION

Diameter [nm] 345

Thickness [nm] 32
Annulus [mm] 47.5

Air Gap [mm] 20

Weight [Kg] 5.7

Ventilation 48 vanes

Offset [mnm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 233
Inside Diameter [mm] 250
Flange Inside Diameter [mm] 217

Flange Thickness [mm] 8




P/N 09.9306.12/22

218
2 0,072
182 73

TECHNICAL SPECIFICATION

B 0,05
29,5 =0,1

Diameter [mm] 350

=
“y
o
o™
T

Thickness [nm] 28
Annulus [mm] 63
Air Gap [mm] 17
Weight [Kg] 6.56
Ventilation 72 vanes

Offset [mm] 15.5

Number of Fixings 10

Mounting Hole Center [mm] 207

8,15 0,06 (x10)

Inside Diameter [nm] 224
Flange Inside Diameter [mm] 183.5

Flange Thickness [mm] 6 | 10,2530,05

P/N 09.9306.10/20

TECHNICAL SPECIFICATION

Diameter [nm] 350

Thickness [mm] 34

Annulus [mm] 68

Air Gap [mm] 17

Weight [Kg] 9.3

Ventilation 72 vanes

Offset [mm] 17.9

Number of Fixings 10
Mounting Hole Center [mm] 197
Inside Diameter [nm] 214
Flange Inside Diameter [mm] 174

Flange Thickness [mm] 8




P/N 09.5759.17/27

TECHNICAL SPECIFICATION

Diameter [mm] 355

Thickness [nm] 28
Annulus [mm] 53.5

Air Gap [mm] 17

Weight [Kg] 5.5

Ventilation 48 vanes

Offset [mm] 15.5

Number of Fixings 10
Mounting Hole Center [mm] 233
Inside Diameter [nm] 248
Flange Inside Diameter [mm] 209

Flange Thickness [mm] 6

P/N 09.5883.10/20

TECHNICAL SPECIFICATION

Diameter [nm] 355

Thickness [mm] 32
Annulus [mm] 53.5

Air Gap [mm] 20

Weight [Kg] 6.2

Ventilation 48 vanes

Offset [mm] 16

Number of Fixings 12
Mounting Hole Center [mm] 233
Inside Diameter [nm] 248
Flange Inside Diameter [mm] 209

Flange Thickness [mm] 5.5




P/N 09.8673.13/23

TECHNICAL SPECIFICATION

Diameter [mm] 355

Thickness [mm] 32
Annulus [mm] 53.5

Air Gap [mm] 17

Weight [Kg] 7
Ventilation 48 vanes

Offset [mm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 233
Inside Diameter [nm] 248
Flange Inside Diameter [mm] 209

Flange Thickness [mm] 8

P/N 09.9306.11/21

TECHNICAL SPECIFICATION

Diameter [mm] 355

Thickness [mm] 32
Annulus [mm] 53.5

Air Gap [mm] 17

Weight [Kg] 7.4

Ventilation 72 vanes

Offset [mm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 233
Inside Diameter [mm] 248
Flange Inside Diameter [mm] 209

Flange Thickness [mm] 8




P/N 09.A026.13/23

TECHNICAL SPECIFICATION
Diameter [mm]
Thickness [mm]
Annulus [mm]
Air Gap [mm]
Weight [Kg]
Ventilation
Offset [mm]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]

Flange Thickness [mm]

P/N 09.A027.13/23

TECHNICAL SPECIFICATION
Diameter [mm]
Thickness [mm]
Annulus [mm]
Air Gap [mm]
Weight [Kg]
Ventilation
Offset [mm]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]

Flange Thickness [mm]

355

32

53.5

17

48 vanes

18.5

10

233

248

209

355

32

53.5

20

48 vanes

18.5

10

233

248

209

32 x0,1
17

7246 5

. +0,072
7209 g

8 0,05

I 10N
v

I
;
I

8,15 0,05(x10)

Bl e e

1248
0
0,5

72356

32 0,1

0
-0,5

= +0,072
7209 7

2486

8 0,05

34,5 0,1

Do 00 |

8,15 20,05(x10)

248
2365

\ i

0
-0,5

34,5 20,1




P/N X7.049.19

TECHNICAL SPECIFICATION

Diameter [mm] 355

Thickness [mm] 32
Annulus [mm] 53.5

Air Gap [mm] 20

Weight [Kg] 6.2
Ventilation pioli
Offset [mm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 233
Inside Diameter [nm] 248
Flange Inside Diameter [mm] 217

Flange Thickness [mm] 8

P/N XA2.91.34/35

TECHNICAL SPECIFICATION

Diameter [mm] 355

Thickness [nm] 32
Annulus [mm] 53.5

Air Gap [mm] 20

Weight [Kg] 6.3

Ventilation 48 vanes

Offset [mnm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 233
Inside Diameter [mm] 248
Flange Inside Diameter [mm] 209

Flange Thickness [mm] 8




P/N 09.9404.12/22

TECHNICAL SPECIFICATION

Diameter [mm] 355

Thickness [mm] 32
Annulus [mm] 60.5

Air Gap [mm] 17
Weight [Kg] 8.14

Ventilation 72 vanes

Offset [mm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 219
Inside Diameter [nm] 234
Flange Inside Diameter [nm] 196

Flange Thickness [mm] 8

P/N 09.9306.30/40

TECHNICAL SPECIFICATION

Diameter [mm] 355

Thickness [nm] 32

Annulus [mm] 64

Air Gap [mm] 17
Weight [Kg] 8.35

Ventilation 72 vanes

Offset [mm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 210
Inside Diameter [mm] 227
Flange Inside Diameter [mm] 187

Flange Thickness [mm] 8




P/N 09.9306.50/60

TECHNICAL SPECIFICATION

Diameter [mm] 355

Thickness [mm] 32

Annulus [mm] 64

Air Gap [mm] 17

Weight [Kg] 8.4

Ventilation 72 vanes

Offset [mm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 210
Inside Diameter [mm] 227
Flange Inside Diameter [mm] 187

Flange Thickness [mm] 8

P/N 09.9306.14/24

TECHNICAL SPECIFICATION

Diameter [nm] 355

Thickness [mm] 35
Annulus [mm] 53.5

Air Gap [mm] 17

Weight [Kg] 8.6

Ventilation 72 vanes

Offset [mm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 233
Inside Diameter [nm] 248
Flange Inside Diameter [mm] 209

Flange Thickness [mm] 8




P/N 09.5683.76/86

TECHNICAL SPECIFICATION

Diameter [nm] 370

Thickness [mm] 32
Annulus [mm] 47.5

Air Gap [mm] 20

Weight [Kg] 5.7

Ventilation 48 vanes

Offset [mm] 18.5

Number of Fixings 10
Mounting Hole Center [mm] 258
Inside Diameter [nm] 275
Flange Inside Diameter [mm] 242

Flange Thickness [mm] 8

P/N 09.8528.55/65

TECHNICAL SPECIFICATION
Diameter [nm] 370
Thickness [mm] 35
Annulus [mm] 55
Air Gap [mm] 17
Weight [Kg] 8.8
Ventilation 72 vanes
Offset [mnm] 18.5
Number of Fixings 10
Mounting Hole Center [mm] 245
Inside Diameter [mm] 260
Flange Inside Diameter [mm] 221

Flange Thickness [mm] 8




P/N 09.8528.51/61

TECHNICAL SPECIFICATION
Diameter [nm] 375
Thickness [mm] 35
Annulus [mm] 57.5
Air Gap [mm] 17
Weight [Kg] 9.2
Ventilation 72 vanes
Offset [mm] 18.5
Number of Fixings 10
Mounting Hole Center [mm] 245
Inside Diameter [mm] 260
Flange Inside Diameter [mm] 221

Flange Thickness [mm] 8

P/N 09.8528.74/84

TECHNICAL SPECIFICATION

Diameter [mm] 380

Thickness [mm] 32
Annulus [mm] 52.5

Air Gap [mm] 17

Weight [Kg] 7.9

Ventilation 72 vanes

Offset [mm] 17.2

Number of Fixings 10
Mounting Hole Center [mm] 258
Inside Diameter [nm] 275

Flange Inside Diameter [mm] 234.5

Flange Thickness [mm] 8




P/N XA2.91.32/33

TECHNICAL SPECIFICATION
Diameter [mm]
Thickness [mm]
Annulus [mm]
Air Gap [mm]
Weight [Kg]
Ventilation
Offset [mm]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]

Flange Thickness [mm]

P/N 09.A009.12/22

TECHNICAL SPECIFICATION
Diameter [mm]
Thickness [mm]
Annulus [mm]
Air Gap [mm]
Weight [Kg]
Ventilation
Offset [mm]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]

Flange Thickness [mm]

380

32

64.25

20

7.7

48 vanes

17.5

10

232

251.5

207

380

34

65

20

9.46

72 vanes

18.5

10

230

250

206.5

8,15 0,05 (x10)

/244 0,025

+0,072
207 "

35,5 20,1

" 10,25 20,05




P/N 09.8528.78/88

TECHNICAL SPECIFICATION
Diameter [mm]
Thickness [mm]
Annulus [mm]
Air Gap [mm]
Weight [Kg]
Ventilation
Offset [mm]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]

Flange Thickness [mm]

380

35

52.5

17

9

72 vanes

18.5

10

258

275

234.5




DISC ASSEMBLIES




FRONT ASSEMBLY

REAR ASSEMBLY

F3 2008

XA6.51.15/25

278x18mm (48vanes

XA6.51.15/25

Car Front (left/right) Rear (left/right) Description

Ferrari 430 GT2 XA2.87.33/34 380x32mm (72vanes)
Ferrari F430 Challenge GT3

XA2.87.41/42 332x32mm (48vanes)
XA0.74.71/72 380x35mm (72vanes)
Porsche 996 RSR XA0.74.73/74 380x32mm (72vanes)
XA0.74.81/82 355x32mm (48vanes)
Porsche 996 CUP XA4.F2.11/12 350x34mm (72vanes)
XA4.F2.21/22 330x28mm (48vanes)
Porsche 997 CUP XA5.R7.11/12 380x34mm (72vanes)
XA5.R7.21/22 350x28mm (72vanes)
XA6.C9.11/12 380x32mm (72vanes)
Porsche 997 RSR XA6.C9.13/14 380x35mm (72vanes)
XA6.C9.21/22 355x32mm (72vanes)
Porsche 997 CUP/GRAND-AM XA6.H7.21/22 380x32mm (72vanes)
XA6.H7.31/32 355x32mm (72vanes)
( )
( )

278x18mm (48vanes

Mitsubishi Evo X Gr.N

XA5.55.31/32(Tarmac) 355x32mm (72 vanes)
Mitsubishi Evo IX Gr.N XA5.S5.51/52(Gravel) 300x30mm (48 vanes)
XA5.55.23/24 295x25,4mm (48vanes)

XA7.G0.31/32(Tarmac) 355x32 (72 vanes)

XA7.G0.21/22(Gravel)

300x32mm (48 vanes)

XA7.G0.23/24

295x25,4mm (48 vanes)




CAST IRON DISC FIXINGS




¢
L4 B A
[
R0.3 9, x45 5 0
= S
s ¥ E
© Se /_
o
< s F TORQUE 7Nm
2 7
~ . = | | | 242 LOCTITE
- =% o & d
e 'ﬂ -3 —
= w P
< N N B N AN |
s NTZ
) T
/
-1 8- [ 1 N\
w | < \__R05.5793.20
- - ]
~
=
8.15 20.05 (xN)
A B o D E F
455 | 5.85 | 10.70 | 0.50
415 | 575 | 1065 | 025 |X8-020.09/A1.08.34.103
5.05 | 5.55 | 10.70 | 0.30
2os | 525 | 1065 | 005 |X8-020.09/A1.14.44.103
6.05 | 5.85 | 12.20 | 0.50
S 9e | 75 | 1295 | 025 |X8-020.08|A1.08.34.103
6.05 | 9.85 | 16.20 | 0.50
cos | 375 | 1615 | o 25 |X 2-030.26|A1.08.34.105
8.05 | 7.85 | 16.20 | 0.50
798 | 775 | 1695 | 025 |X2-030.26(A1.08.34.105
c
L B A
R0.3 ), %45 = D
E—— | P
€
2 hd E
csea
= ® e
2 s F TORQUE Nm
w
2 = N 242 LOCTITE
ed| o > o e
ltl'f o I~
vy /y——
—t
\V——
| W
og| =5
“| 2 ¢
Sl <
A B o D E F G
3.1 7.6 | 10.70 | 0.40
39 75 | 1065 | og5 [X 8 020.09(A1.08.34.103| ROS.5793.20
455 | 6.05 | 10.70 | 0.30
225 | 595 | 10.65 | oos |XB-020-09|A1.08.34.103| X 9.002.47
6.05 | 6.05 | 12.20 | 0.30
595 | 595 | 12,95 | ops |X 8-020-08|A1.08.34.103| X 9.002.47
8.05 | 8.05 | 16.20 | 0.30
795 | 795 | 16.15 | o5 |X 2-030.26|A1.08.34.105| X 9.002.47




HEAVY DUTY

D10.05

A0.05

+0.05
12.05 6™ (xN)
7| 2.5

N
N
M6 x1
.6

0.5:0.1%45°

0.325:0.075_| _
7.810.05

XA1.B6.30 (12Nm) (x N)

C:0.05

A3.41.10.006 (x N)

A B C D
B (x N)

6 | XA1.B6.27 | 4.5 [16.5
g8 |[XA1.B6.29 | 6.5

18.5




PADS




PAD FAMILY Type"62"

TECHNICAL SPECIFICATION
P/N: 07.1715.50 Thickness[mm]: 15 Compound: Ferodo DS2000 Pad Area [cm?]: 24.8

P/N: 07.1715.41 Thickness[mm]: 15 Compound: Pagid RS4/2 Pad Area [cm?]: 24.8

PAD FAMILY Type"80-H45"

TECHNICAL SPECIFICATION

P/N: 07.5684.73 Thickness[mm]: 17.5 Compound: Ferodo PRO144 Pad Area [cm’]:  30.7

PAD FAMILY Type"100-H38,5"

TECHNICAL SPECIFICATION

P/N: 07.7881.41 Thickness[mm]: 16 Compound: Hawk HT12 Pad Area [cm?]: 35.8




PAD FAMILY Type"100-H42,5"

TECHNICAL SPECIFICATION

P/N: 07.7881.80 Thickness[mm]: 20 Compound: Hawk HT14 Pad Area [cm?]: 38

PAD FAMILY Type"132A"
TECHNICAL SPECIFICATION

P/N: 07.5308.91 Thickness[mm]: 26.5 Compound: Ferodo DS3000 Pad Area [cm?]: 77

PAD FAMILY Type"132-H43"

TECHNICAL SPECIFICATION
P/N: 07.7869.11 Thickness[mm]: 18 Compound: Ferodo DS3000PLUS Pad Area [cm?]: 55.7

P/N: 07.7869.12 Thickness[mm]: 18 Compound: Ferodo DS4000 Pad Area [cm?]: 55.7




TECHNICAL SPECIFICATION

P/N:
P/N:
P/N:

P/N:

07.5139.19

XA2.F7.09

07.7869.81

07.8619.60

Thickness[mm]:
Thickness[mm]:
Thickness[mm]:

Thickness[mm]:

TECHNICAL SPECIFICATION

P/N:

07.5169.91

Thickness[mm]:

16

16

26.5

26.5

21.3

PAD FAMILY Type'"132-H49"

Compound:
Compound:
Compound:

Compound:

Ferodo DS3000
Ferodo PRO144
Ferodo DS1.11

Hawk HT14

PAD FAMILY Type"140"

Compound:

Ferodo DS3000

Pad Area [cm®]:
Pad Area [cm®]:
Pad Area [cm?]:

Pad Area [cm?]:

Pad Area [cm?]:

60.1

58.6

60.1

67




TECHNICAL SPECIFICATION
P/N: 07.7293.63 Thickness[mm]:

P/N: 07.7293.90 Thickness[mm]:

29

29

PAD FAMILY  Type"164"

Compound: Ferodo DS1.11

Compound: Hawk HT14

Pad Area [cm?]:

Pad Area [cm?]:

771

771




CARBON DISCS AND PADS




P/N 09.7843.11

TECHNICAL SPECIFICATION

Carbon Material CCR300

Diameter [mm] 380
Thickness [mm] 37
Annulus [mm] 53

Ventilation holes [mm] 15

Weight [Kg] 3.15
Number of Fixings 12
Mounting Hole Center [mnm] 250

Inside Diameter [mm] 274

Iertisicatline =ak

Flange Inside Diameter [nm] 231 Ry

100 0 O O'~§“OCéFO;%°O~ Ow0x«O 0 000

Flange Thickness [mm] 22

Related Pads 07.7844.10 07.9076.20 07.9076.30

P/N 09.7843.21

A

o

i I

Carbon Material CCR300 —
.c’qu‘m OO Y HU

TECHNICAL SPECIFICATION q‘
|
\

Diameter [mm] 355
Thickness [mm] 37
Annulus [mm] 53
Ventilation holes [mm] 15

Weight [Kg] 2.8

Number of Fixings 12
Mounting Hole Center [nm] 225

Inside Diameter [mm] 249

Flange Inside Diameter [nm] 206

|
Ry
Flange Thickness [mm] 22 100 0 O OF0=ONO» O0=0 0 000

Related Pads 07.7844.10 07.9076.20 07.9076.30




P/N 09.7843.55

TECHNICAL SPECIFICATION
Carbon Material
Diameter [mm]
Thickness [mm]
Annulus [mm]
Ventilation holes [mm]
Weight [Kg]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]

Flange Inside Diameter [mm]

Flange Thickness [mm]

Related Pads

P/N XA6.M3.A2

TECHNICAL SPECIFICATION
Carbon Material
Diameter [mm]
Thickness [mm]
Annulus [mm]
Ventilation holes [mm]
Weight [Kg]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]
Flange Inside Diameter [mm]
Flange Thickness [mm]

Related Pads

CCR300

355

3
w
=R

&

=

35
53
15
2.7
12
225
249
206

22

07.9448.10

CER200
380
35
53
12
3,22
12
250
274
231
22

07.9076.20 07.9076.10

9355 3,

\1 @249 101

Identification mark:

‘000 0 0 O@O=0O

Q= OO0 O OOO*




P/N XA6.M3.A3

TECHNICAL SPECIFICATION
Carbon Material CER200
Diameter [mm] 355
Thickness [mm] 35
Annulus [mm] 53
Ventilation holes [mm] 12
Weight [Kg] 2,92
Number of Fixings 12
Mounting Hole Center [mm] 225
Inside Diameter [mm] 249

Flange Inside Diameter [nm] 206
Flange Thickness [mm] 22

Related Pads 07.9076.20 07.9076.10

P/N XA6.M3.B2

TECHNICAL SPECIFICATION
Carbon Material CER200
Diameter [mm] 380
Thickness [mm] 32
Annulus [mm] 53
Ventilation holes [mm] 12
Weight [Kg] 2,85
Number of Fixings 12
Mounting Hole Center [mm] 250
Inside Diameter [mm] 274

Flange Inside Diameter [mm] 231
Flange Thickness [mm] 22

Related Pads 07.9076.10




P/N XA6.M3.B3

TECHNICAL SPECIFICATION
Carbon Material
Diameter [mm]
Thickness [mm]
Annulus [mm]
Ventilation holes [mm]
Weight [Kg]
Number of Fixings
Mounting Hole Center [mm]
Inside Diameter [mm]

Flange Inside Diameter [mm]

Flange Thickness [mm]

Related Pads

CER200
355

32

53

12

2,6

12

250

274

231

22

07.9076.10




TECHNICAL SPECIFICATION

P/N:

07.7844.10

Carbon Material:

CCR400

TECHNICAL SPECIFICATION

P/N: 07.9076.10 Carbon Material: CCR400

P/N: 07.9076.20 Carbon Material: CCR400
TECHNICAL SPECIFICATION

P/N: 07.9448.10 Carbon Material: CCR400

PAD FAMILY Type"140 C-C"

Thickness[mm]: 26.5 Annulus [mm]: 53.0

PAD FAMILY Type"164 C-C"

Thickness[mm]: 25 Annulus [mm]: 53.0

Thickness[mm]: 31.5 Annulus [mm]: 53.0

PAD FAMILY Type"152"

Thickness[mm]: 25.0 Annulus [mm]: 52.9




CARBON DISC FIXING




CARBON DISC FIXING

1
&

05.5793.26 (x12

05.5829.18 (x12
i

\ }
|
)
|
\
| \
e T
| i

MEX1

5 0,05

LS
21,95 0,05
+0,25
° 10 t0,08
18
25MAX 34 ,9MAX

Mmm‘

/ !
[ ‘ 24
05.6805.50 (x12) }
A3.41.10.006(x12) |

+0,08
10,
'

9,925 0,025

19

12

(10)
p




MASTER CYLINDERS &
RESERVOIRS




P/N 10.8687.10/13

STANDARD RESERVOIRS

P/N 10.8687.14/15

GRAN TOURING RESERVOIRS




P/N X97.54.11/16

FRONT PIVOT FIXING MASTER CYLINDER

10 MIN

o Ju] ac Part Number
15 25 21 |X 97.54. 11
16 25 21 | X 97.54.12
17 25 30 | X 97.54.13
18 25 30 | X 97.54. 14
19.05| 25 30 | X 97.54.15
20.64 | 26 30 | X 97.54.16

M 10 x1 (x2]

B.3520.05

161

Stroke

M 10 x1

R&

2\

QUTLET ¢

o

P/N XA2.L2.A7/F7 - XA3.G1.32/45

FRONT PIVOT FIXING WITH VERTICAL BEARING MASTER CYLINDER

127

X97541116




P/N 10.9243.54/96

TWO BOLT FIXING MASTER CYLINDER

P/N 10.6815.16/97

SINGLE NUT FIXING MASTER CYLINDER




P/N XA6.S2.11/A4
FORGED MASTER CYLINDER
92,3
50 6 o Stroke
. mioxi ©
» 23
[N
—T 18
4
[=]
— w| @ f
. 0 o o
98 4,008 sl ©
7 141,2
R4 14
) —
tA D Part Number / :‘ o
e e = e ne | |
17,453:1'0221:” 32 \;HFB:M/PJ( R
19,00 wa]-oz:urF AINI T (ALONG 360°) » z
20, 6402 52 T =
22,0282 52 OUTLET INLET
XA6521115
P/N XA7.B9.11/13
TWIN MASTER CYLINDER FOR HANDBRAKE
215
OUTLET OUTLET
INLET 4 INLET  —~ -~
< N
M x
2 15(x2)-STROKE| =
19 19 19 >
. e o = ©
M10x1 (x4) T : = — 0
) : ‘ «© o -
O S | x %
o S ngnEn > s
) © -
e — T
B - — U U | |22, 5M1N(x2)
b -
< 124,86 N 4(x2)
= &
=il I~ =
(E=:a=iy © 000  —
oA Part Number
16.00 XA7.B9.11
17.00 XA7.B9.12
18.00 XA7.B9.13
XA7.B9.11/13




PEDAL BOX




.30

71

P/N XA3

TOP MOUNTING PEDAL BOX

IVIH3AAL 3¥Y SOVIHHL 11v-
SIHONI NI 3JHY SNOISNIWIA A3LivHd 1TV~
SHILIWITIIN NI NMOHS SNOISNAWIQ-

JINFY343H Junind

H04 133HS SIHL NIV.i3d 3SVild

:S3LON
00°szo - 9€°20°9VX
08°ezo - 56°29°9VX
zz‘ze0 - ¥£°209VX
¥9° 020 2¥°21°2VX £€°20°9vX
00610 Sb*197EVX 26°29°9VX
il b 1D EVX -
(ww)3zIS 3608 HIONITAD HILSYH HOLNTO HIANITAO HILSWH Divee

"NHNLIH (SNOLSId HIGNITAD'W ONV) Tva3d 3131dM0D
3HL 3¥NSSY OL HIQHO NI SISSVHO 3HL NV TvO3d Iivid NIIMLIS QILLI4 38 NVO BNIHAS
TYNOILIOOY NV *3SN 3H0438 NMNLIH ATINd SNOLSI4 HIANITAG HILSVW FHL LVHL JWnS VW -
(OILVY 1V03d Li€‘ 40 3SVO NI‘NOILISOd Tva3d 404 NIM.SL HO QOHHSNA 3HL NO
INJHLSNCOY 318ISS0d WUYLINOILISOJ GIHISIA HVE IONYTVE ONV Tva3d JHL NIVLEO OL H3Ldvay
QOUHSN HIZHL HONOHHL SOOHHSNA HIANITAO HILSVW 3HL Qv3UHL ‘ HvA 3ONVIVA 3HL dn-13s OL -
*Q3SVA13H ST TVQ3d JHL NIHM THVNOS
ST W3LSAS JHL LVHL INVIHOAMI L.NSI LI "oJ4VNOS» NIHL SI WILSAS JHL "QVOT MIMIXVA HIANA
SHIANITA'W JHL OL HVINOIANIAYId HvA JONVIvE JHL JAVH OL H3OHO NI SOOHHSNd JHL LSNrav -
uvd 3ONVIVE JHL SNILSNNQY A GINNL 3NI4 38 NvD JONVIVE Divhd ¥vIY OL INOHd -
SIIINIIOISAANI 3ONG3H OL Sd13H SIZIS
YIGNITAD YILSVW 40 NOILOI13S W3LIAA HLIM NOILISOd TYUIN3D NI ¥ve 3ONVTVE JHL NI -
SIAVHE VAW OGNV LNOHS
40 $IHOS HIANITAO HILSWA 3ZIS INJYIAAIQ 40 3ISN AG GILSNNQY 38 NVD ONINOTLHOAOH ivHE -
UN € 40 3NDHOL V HLIM SM3OS 8NYS JHL BNISOTO
HvE JONVIVE 3HL OL LT X007 ONV HIONIT J1VIHdOHddY 3HL LV 379v3 HILSNray 310M3Y 3JHL 1nO -
9YNIJIAYIS 2 NOILVTIVLSNI
(09" 12" VX YIGNNN LHvd) 15303y
NO 319VIIVAY GNV ° X08 Tva3d SHL HLIM G3GNTONI L.NSI ATGW3ISSY I1LLOYHL Tva3d JHL -
¥08 va3d 3HL HLIM Q3ANTONI L NIWV SHIANITAD WILSVHW THL -
SHIANITAO HILSWN 40 JONVH JTEVIIVAV 40 SHIEWNN ldvd 3JHL HO4 I18VL JHL 33S -
L14VHS Q3INITS IHL YNOTV QILSNNPAY 38 NvO HIAIT ITLLOMHL ANV Tv33d I1LLOHHL JHL -
SHIANITAQ Y3LSWM ONV JWVHd NIIMLIE TTVMIHI 3HL 38010 OL $1009 W3dany -
L€'y f1IL'G 119 OILVM Tva3d 3G HO4 SNOTLISOd 37EVISNray 33WHL -
$TVQ3d HOLNTO ONV BIVEE NO SAVd 1004 HO4 SNOILISOd I181850d IIWHL -
va3d DiveE 03LvOTHEVS 133LS -
QNI DIOHLS IHL XId OL dO1S Tva3d I1AVISNraY HLIM
‘ GINIHOVA WNINIANTY TvG3d HOLMO ANV J1LLOHL -

e - \J/ 137118 WNINIANTY WOH GINIHOWA SIWVHA -
>o\\ - \\«.@4 NOILdIHOS3A 1ONAaoud
\ OB

3
Y
W o

.
\ A

- UNOZ OL 3N0EOL E3WOLSTO A8
G3LLI4 38 OL GNY 35007 GAITddNS
SIN &

~ I~ BIA BT
-y | 23
8 | 0 == el
o m (.e5%70) ML TTvA3HId
a - Ety
(.288°v) (.£90°v)
g'aLL c'eor

{.s2°2)
Sl 45

%01 20 NOLLVEVA SNIONYTVE ¥ 604
NIHLSNNGY TYLO0L 0 SNENL Zh

YI¥0 4vg SVI9

(.680,0)
k)

"3NDYOL BNE HLIM 378D

HAINTY GNY ivEE STVO3d N0 3TEVTIVAY 135430 Ovd
(

W226°0) 28

&
S
f
N |

3 TIVMEEH e NIVLZH OL SMIHOS N¥S 2°OXtM 2
ya *HOLSNNPAY 378VD ¥4 FT0H 0°pe
| e
3 N
°g —
(.188°0) a
(a4 N = =]
- (.185°0) —
(.s02°2) s1 v
XN 5'28
oa
8
W SIAN SHL W360S NIHL NOTLISOd vA
| JONVIVE ONY VO3d 3HL 3u3H Lsnrav >
I
7 B
' (.86°0) H
7 X622 -
K]
g
=)
1 ||

m B
1 ~I—
i o
: 2
I = o
] ] Zalen
WLlad
Ya .
H a~ Mw?nm—%.
- "Car-e)! (.££8°8) (.818°09) TR TEeE
8'es 666 9
[ NGNI39 v3d SHL d13H OL S6sH

(.e8%°0)
S = = Q3LLI4 39 NVO DNIdS TYNOILIOQY

‘oquiaiq ()

“pAMOTTe ST SJ03}T1odwods oquadg 031 40 SaTiJed pdTyl
01 SJNSNTOSTP ON "U3PPTYJOL ST ‘IuswNJisSuT 1O
puty Aue yYjtm pue Terided usAas ‘uotionpoudsd Auy
*paAJesad SIYBTJ TTIV

"y d s oquaug o ybrakdon

NOILO3r0Hd TONY 1SHI4

N
=

ONIMVHAQ NOILVTIVLSNI
(SY3IANITAD HILSYW ANV TvQ3d ITLLOWHL LNOHLIM) ATEWISSY X09 Tva3d ONILNNOW dOL HYOSWN

0€" L EVX




BRAKE SYSTEM LAYOUT




BRAKE FLUID




P/N 04.8164.11

LCF 600 PLUS BRAKE FLUID

Exclusively for racing use.
Brembo Racing LCF 600 plus has been specifically formulated to provide the highest performance under all
racing conditions:

- anindipendently proven low compressibility at high temperatures

- atypical dry boiling point of 316°C (601 °F)

- atypical wet boiling point of 204 °C (399 °F)

It even exceeds the requirements of U.S. FMVSS 116 DOT4 specification.

COMPATIBILITY

Compatible with all Brembo Racing Brake Systems.

It can be mixed with other DOT3 and DOT4 racing brake fluids but for maximum performance advantage,
before filling, other types of fluid should be drained form the brake system to avoid diluting the flid
characteristic.

Brembo LCF 600 plus must not be used in Brake Systems containing magnesium parts.




P/N 04.8164.20

HTC 64T PLUS BRAKE FLUID

Exclusively for racing use.
Brembo Racing HTC 64T plus has been specifically formulated to provide the highest performance under all
racing conditions:

- anindipendently proven low compressibility at high temperatures

- atypical dry boiling point of 335°C (635 °F)

COMPATIBILITY

Compatible with all Brembo Racing Brake Systems.

It can be mixed with other DOT3 and DOT4 racing brake fluids but for maximum performance advantage,
before filling, other types of fluid should be drained form the brake system to avoid diluting the flid
characteristic.

Brembo HTC 64T plus must not be used in Brake Systems containing magnesium parts.




TEMPERATURE RECORDS




P/N 02.5711.10

TEMPERATURE PAINTS

P/N 02.5168.10/13

CALIPER THERMO TAPES

P/N 02.5223.10

TEMPERATURE RECORD NOTPAD

Paint Colour Temperature of Toner

GREEN 430°C / 806 °F

ORANGE 560°C / 1040°F

RED 610°C / 1130°F

P/N Temperature Range

02.5168.10 From 132°C/270°F to 210°C/410°F
02.5168.11 From 88°C/190°F to 127°C/260 °F
02.5168.12 From 132°C/270°F to 171°C/340°F
02.5168.13 From 210°C/410 °F to 260°C/500 °F




	Catalogo200901
	brembocat09
	Catalogo2009brembopad



